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Usted puede navegar en el libro de la siguiente manera: 

 

Para pasar las páginas – Colocar el cursor del ratón sobre las esquinas de las páginas y 

hacer clic     

Para ampliar las páginas – Hacer doble clic en la página que desea aumentar de tamaño 

Para minimizar la pantalla de la aplicación – Presione la tecla ESCAPE (ESC) 
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A manera de presentación 
 
 

Cuando terminó el Semestre I-2011 en la Universidad, Rubén, Vinicio y Carmen decidieron 

no botar los mejores cuadernos de apuntes. Expresaron entonces la disposición de pasarlos a 

otros estudiantes para ayudarlos en los objetivos de sus estudios. 

Así nació la idea de hacer unos cuadernos de ejercicios resueltos de Matemática para 

estudiantes de Ingeniería, orientados a facilitar la comprensión  de los artificios y procedimientos 

que pueden encontrarse y seguirse  cuando se resuelven problemas de Cálculo. En realidad, se 

omitieron algunas operaciones en el entendido que cada bachiller domina conocimientos 

precedentes de educación básica, sobre todo, los aprendizaje de operaciones con números reales, 

potenciación, radicación, operaciones con polinomios, productos notables, y factorización, para 

nombrar algunos aspectos. 

Bajo esta motivación y con el entusiasmo de Mircia Dolores, no dudamos en ofrecerles la 

elemental colaboración para llevar a buen término su propósito. 

 
 
 
 

Ramón R. Resplandor Moreno 
 

 
Maturín, junio de 2015 
 
resplan40@hotmail.com 
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MATEMATICA II 
 

FUNCIONES INVERSAS  
 

���	��	��	��������	����	������	 
���	��	�����ó�	�������	������	(����������	�á�. 14) 

 
 

 
1.−		�(�) = 4� − 3			 

2.−				�(�) =
�

3
+ 1			  

3.−				�(�) = �� + 5 
 

4.−		�(�) = �� + 1		 
 

5.−				�(�) = ln	(� − 3)		 6.−				�(�) = 	
��

4
− 2�� 

 
7.−			�(�) = 2 − � − �� 

 
8.−				�(�) = �� − 6�� + 9�		 

 
9.−				�(�) = (�� − 1)� 

 
10.−	�(�) = 2�� + 8� + 7			 

 

 
11.−	�(�) = 2 − � − �� 

 

 
12. −		�(�) = (5� − 1)� 

 

 

13.−		�(�) = √5� − 1 
14.−		�(�) =

2� − 3

� + 2
 15. −		�(�) =

3� − 1

� + 2
 

16.−		�(�) =
3� + 4

2� + 6
 17.−		�(�) =

� + 2

1 − 3�
 

 
18. −	�(�) = 	�� + 3� − 1 

 
19.−		��	�(�) = 6 − 	� − �� 

  

 
 
 

���������	���		�����(�)� = �		�		���		�����(�)� = �		(�á�. 22) 
 
 

 

1.−	�(�) = √� + 1 2.−	�(�) = 1 +	��
�

� + 2�

�

�
 3.-�(�) = 	1 +	��

�

� − 2�

�

�
 

 

4.−	�(�) = 	�(�� − 2)� + 5 

 

5.−	�(�) = 	�1 − (� − 2)� 6.−�(�) = 	 ��1 +
1

��
�
�

+ 1�

�

�

 

 

 
 

7.−			�(�) = 	 �√�
�

+ 1�
�

 

 

8.−		�(�) = 	 �
2

3
− √3� + 1�

�

 9.−		�(�) = 	
��

�

� + 2
�

+ 8

��
�

� + 2
�

+ 9

 

 

10.−		�(�) = � √���
�

 
 

 

11.−		�(�) = 5�√�����
�
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��á����	��	���������	��������é������	 
�	���	��������		(����������	�á�. 35). 

 

 
1.−					� = sen(�) 

 
2.−					� = cos(�) 

 
3.−				� = tan(�) 

 
4.−					� = sec	(�) 

 
5.−					� = csc(�) 

 
6.−			� = cot	(�) 

 
 

��������, ���í���, �������, �������, 
�����, �������	�	��á����	��	��������� 
��������é������	(����������	�á�. 41). 

 

 
1.−		� = sen(�) 

 
2.−		�	 cos(�) 

3.−		� = cos �� +
�

2
� 

4.−			� = sen �
��

4
− �� 5.−			� = tan �2� +

�

3
� 6.−		� =

3

4
+ sen�

3�

2
−
�

6
� 

7.−			� − 3 = cos �2� −
�

3
� 8.−			� = 1 + sen �

��

3
� 9.−	� = 2 + 3 cos �

��

2
− �� 

10.−		� = 1 + 3 tan �
� + �

6
� 

  

 

�������	�	�����������		���	 
����������	���������	(����������	�á�. 59) 

 
 

 

1.−				� = sen �3� +
�

2
� 

 
2.−			� = (3�� − 1)� 

 
3.−			� = ���� 

 
4.−			� = 4�� − 3x 

 
5.−			� = ln(� + ��) 

 
6.−	� = ln(��. ��) 
 

 

7.−	� = �1 − 6��
�

 

 

8.−	� =
�

�
+
�

�
 

 

9.−2�� − 3�� + 4�� = √3 

 

10.−	�� =
� − �

� + �
 

 
11.−			��� − �� = 1 − 3�� 

 

12. −	� = �sen(�) 

 
13.−		� = 2sen(3�)cos(3�) 

 
14.−		��cos�(4�) = �� − �� 

 

15. −	� = sen �cos���� 

 
16.−		� = sec�(�)tan�(�) 17.−		� =

�� + 1

√1 − ��
 

 

 
18. −		� = sec(��) = �� 

 

19. � = (2�� − 1)���� − 3
�

 
 

 
20.−			��cos(�) = ��sen(��) 
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�������	�	�����������	���	���������	���	 
��	��������	�	����������ó�	(����������	�á�. 64) 

 

1.−	� = sen�7� −
�

2
� 2.−� = ����

�
 3.−	� = sec��(3�� + 2)� 

4.−		� = log�√� − 1� 5.−		� = sen�����
�
� 6.−		� = sen(cos��(� + 1)) 

 

7.−	� = �√� 

 
8.−		� = ln(� + ��) 

9.−	tan�� �
�

�
� + 2��� =

�

�
 

 

10.−	� = ln �ln�√��� 

 
11.−	sen��(��) = cos��(� + �) 

 

12. sen���√�� = sec������ 

13.−	 

� = tan�� ��
1 − cos �

1 + cos �
� 

14.− 

� = ��� − 1 + sec�� ���� − 1� 

 

15. −		� =
ln�(�)

ln(�)
 

16.−	� =
�

2
��� − �� 

+
��

2
sen�� �

�

�
� 

 
17.−		� = ln(����) 

 
18.−		� = ln(tan��(���)) 

19.−	� = ln�
1 + sen�

1 − sen�

�

 

 
20.−	ln(� + �)� = �� + �� 

 
21.−	ln(� + �) = ��.� + �� 

 

22.−	� =
�� − ���

�� + ���
 23.−ln(�� + ��) = 2 tan�� �

�

�
� 

 
24. −ln(�) = sen(�) 

25.−	 
� = sen��(ln	�) − ln(tan�� �) 26.−	�1 + ln	� = sen�(3� − 1) 

 

27.− ln[(2� + 1)�(�� − 4)�] 
 
28. � = sen�(��)cos�(���) 29.− ln��� + ln�� + � = 4 

 

30.− sen��[ln(� + �)] = �. � 

 
31.−	� = 10��� cos(�)  

 

 
 

�������	�	�����������	���	����������	 
���������	ℎ�����ó�����	(����������	�. 75) 

 
 

1.−� = �	 senh � + ������ 2. −� = senh(tan��(���)) 
3.−	� =

senh�

1 + cosh�
 

4.−	� = sen��(tanh(��)) 5. − senh� = tan � 6.−		� = 	 arccoth �ln �
�

2
�� 

7.−	� = ln ��tanh(2�)� 8. −� = �√sech	�
�

�
�

 9.−	 
			� = ln[coth(5�) − csch(5�)] 

10.− 
tanh�� � = tan��(sech�) 

 

11.−� = ln��tanh���
�
�� 

 

12.−	� = cosh�����
�
� 

 
13.−� = ln(ln(sech��(��))) 

 

14.−� = ln[senh��(���)]�/� 

15.− 

� = �csch�(�� − 3� + 1)
�
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16.− 

� = [sech�(3�). cosh�(3�)] 17.−� =
1

�
sech �

1

�
� 

 
8.− senh��(�� + ��) = tanh�� � 

 

19.−		� = ln �senh�√��� 
20.−		� =

1

�tanh�ln�(3�)�

 
 

 

��������	���	����������	����������	(����������	�á�. 81) 

 

1.−�(	√� + 8� − 3)�� 2.−�(2	√� − √�
�

− ��)�� 3.−	�
2��

��
 

4.−�
��

sec	(�)
 5.−��√�	(� + ��)

� ��� 6.−�
(	�� + 2�)���

��
 

7.−����� + 2�� 8.−� tan(�)�� 9.−�
(�� + 5�� − 6�� + 8)��

��
 

10.−�(4� + 3)� �� 11.−�
����

�� − 2
 12.−�2���

�
�� 

13.−�
��

1 − �
 14.−�

(� + 2)��

2√� + 2
 15.−�(3�� − 1)��� 

16.−��
5

�
−
�

5
��� 17.−� cos(��)2�	�� 18.−	�(1 − cos	 �)� sen	�	�� 

19.−�
����

�� − 2
 20.−�(3�� − 1)(� + 2)�� 21.−�

(5� + 3)���	

4
 

22.−		�(5�� − 1)��� 23.−	������ �� 24.−�(2�� + 1)
�
�� ���� 

25.−�
(� + 3)��

(3 − �)
�
��

 26.�(1 + sen	2�)
�
�� cos2�	�� 27.−�

sen	�	��

cos��
 

28.- 

�(��� + �)	(1 − 2���)�� 
29.−�

���

(1 − 2��)�
 30.−�

(�� + �)��

(4 − 3�� − 2��)
 

31. 

���� + �� (10�� + 5�) �� 
32.−�

��

√�(√� − 3)�
 33.−	�(1 +

1

�
)
1

��
�� 

34.−		�
(√� − 1)

�

���)

√�
 35.−�

��
�
�� − 2�

�

√��
� �� 

36.−� �� (� + 1)
�
�� 	�� 

37.−	�
3���

(1 − 3�)�
 38.−		�(3 − �)

�
�� ��� 39.−	�√3 + � (� + 1)��� 

40.− 

���� (1 +
1

2�
)
�
�� 	�� 

41.− 

�
(� + 1)��

√�� + 2� + 2
 

42.− 

�
(� + 3)��

�(9 − �)�
�

 

43.− 

��� +
1

�
�

�
��

�
�� − 1

��
��� 

 

44.−	�(2�� − 1)
�
�� ���� 

 

45.−�
1

��		
	(
� − 1

�
)
�
�� 	�� 
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46.−�
√2�� + 3

���
�� 47.−��(�� + 2)���� 48.−�

(2� + 3)��

√�� + 3�
 

49.−�√��1 + �√� �� 50.−��� (�� − 3)
�
�	� �� 51.−�

���

(�� + �)
�
��

 

52.- 

��
�� + 2

��
��� −

1

��
�� 

 

53.−�
��

sec(2�)
 

 

54.−�
cot(3�)��

sen�(3�)
 

55.- 

���cot(��) csc(��) �� 

 

56.−��tan(�) sec�(�)�� 

57.- 

�sec�(sec � − tan	�)��	 

58.-∫(sen(�))
�
�� cos(�)�� 59.−�

tan	�	��

cos��
 	60.−�

sen(2�)��

√1 + sen��
 

61.−�
��

cos��	�tan(�) − 1
 62.−	�

csc��√����

√�
 63.−	�

��sen(�� + 1)��

cos�(�� + 1)
 

64.−	�
��

sen�(�� + �)
 65.−��	sen�

		��

2
��� 66.−	�

sen√�. cos√�	��

√�
 

67.−	�sec��	tan	�	�� 
  

 

����������	���	��������	�	���������	 
��������é������	��������	(����������	�á�. 98) 

 
 

1.−�
��

√2 − 5��
 2.−	�

��

√2 + � − ��
 3.−	�

��

�� + 2� + 10
 

4.−	�
���

�� + 3
 5.−	�

��

�√4�� − 9
 6.−	�

����

√1 − ��
 

7.−	�
���

��√�� − 1
 8.−	�

��	��

�� + ��
 9.−	�

(� + 2)��

√4 − 2� − ��
 

10.−	�
��

�� + 10� + 30
 11.−	�

��

�4 − (� + 2)�
 12.−	�

sec(�)tan(�)��

9 − 4	sec�(�)
 

13.−	�
cos(�)��

1 + sen�(�)
 14.−	�

��

√20 + 8� − ��
 15.−	�

��

√2� − ��
 

16.−	�
��

√�(1 + �)
 17.−	�

��

��1 − ln�(�)
 18.−	�

����

√1 − ���
 

19.−	�
����

�� + 25
 20.−�

cos(�)sen(�)��

1 + sen�(�)
 21.−	�

��

4�� − 4� + 2
 

22.−	�
2	sen(4�)��

1 + sen�(2�)
 23.−	�

csc�(3�)��

25 + cot�(3�)
 24.−	�

��

√12 − 4� − ��
 

25.−	�
��

√1 − ����
 26.−	�

��

√9 − 4��
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��������������������������������� 
�����í������	�	�������������	(����������	�á�. 106). 

 

1.−	�
���

1 + ��
 2.−	����

�
�� 3.−	�

��

�	ln�
 

4.−	�
ln(�)��

�
 5.−	�

cos�ln(�)���

�
 6.−	�

sen(�)��

cos(�)
 

7.−	� tan(�)�� 8.−	�
(�� + 1)��

��
 9.−	�

����

(�� − 5)
 

10.−	�sec� (�)����(�)�� 11.−	�
(�� + sec��)��

(tan	� + ��)
 12.−	�

(��� + �� + 1)��

��
 

13.−	�
√���

1 + �√�
 14.−	�

����

4 − ��
 15.−	�

�√�����

√� + 1
 

16.−	�
(�� + ���)��

(�� − ���)
 17.−	�

��

�	ln√�
 18.−	�

��

�� + 1
 

19.−	�
��√� + 1���

√�
 

20.−	�
ln(�)��

�(1 + ln(�))
�
��
 21.−	���� ����� 

22.−	�
�����

��� + 1
 

23.− 

�(2� + 1)10(��
������) �� 

24.−	�(���� +
1

��
)�� 

25.−	�
�����

(1 − 2���)�
 

26.−	 

���	��	� (1 + ln	�)�� 
27.−	�

�����

��� + 3
 

28.−	�
(2 + ln��)��

�(1 − ln	�)
 29.−	�(�

�

� − �
��

� )�� 30.−	�(� − 1)���
������ 

31.−	�
��

�� + ���
 32.−	�(�

�
�� − �

��
�� )�� 33.−	�

��

√��
 

34.−	�
��

3 − �
 35.−	�

��

�(ln	�)�
 36.−	�

�����

√��� + 1
 

37.−	�
��

��

��
�� 38.−	����

���	��� 39.−	�����
�
�� 

40.−	�����
�(�) sen(2�)�� 41.−	�

sec��	��

csc	�
 42.−	�

cot(ln	�)��

�
 

 

����������	�������������	�����������	(����������	�á�. 117) 

1.−	
��

��
	= 6 − 3�� 2.−	

��

��
= 3���� 3.−	

��

��
= ��� − � 

4.−	
��

��
=
��√�� − 3

��
 5.−	

��

��
= (2� + 1)� 6.−	

��

��
= 3�� + 4� − 6 

7.−	
��

��
=
(� + 2)�

(3 − �)
 

 

8.−				��� = √2� − 3 
 

9.−			
���

���
	= 5�� + 1 



   

12 
 

10.−��
��

��
= ��(� − 4) 11.−

���

���
		= −9 sen(3�) 12.−		���

��

��
= (�� − 1)

�

� 

13.−		
��

��
	= (� + 1)(� + 2) 

14.− 
(� + 5)�� − (� − 2)�� = 0 

15.− 
���� − (1 + ��)�� = 0 

 

16.−(� − 1)�� +	���� = 0 
17.− 
(�� − 2)�� + (2� + 3)���

= 0 

18.− 
(�� + 4)����(�� + 3)�� = 0 

19.−	 
cos��	�� + sen	�	�� = 0 

20.−	 
(3 − �)�� + 2���� = 0 
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FUNCIONES INVERSAS 

 

��������ó�: 

��	�	��	���	�����ó�	���	�	���	�������	���	���	�����	(�, �),			��������	������	��	�����ó�, 

���,				�������	�����ó�	�������	��	�	,				���	���		���		��	��	��������	��	�����	(�, �) 

	���������	���				� = ���(�) 				⟺ 						� = �(�)	.		 

��	�������	��	���			��		��		�����	��		� 

��	�����	��	���		��			��	�������	��		� 

1.−	���ú�	��	��������ó�		��	�����		���		���(�) = �	,				����	����		� = �(�)		��	�����á 

���[�(�)] = � 

2.−����������,				���	��������ó�		�(�) = �	,				����		� = ���(�)			�����		 

�[���(�)] = �				��	�����					�[���(�)] = �					 

 

���	�(�)		���	�����ó�	���	�����	����	�������	��	���������	�������	[�, �], ��������: 

1.−��		�(�)	��	��������	�	���������	��		[�, �],			�(�)	�����	���	�������	���(�)	���	���á	��������		 

��	[�(�), �(�)] 

2.−��		�(�)	��	��������	�	�����������	��		[�, �],			�	�����	���	�������	���(�)	���	���á	��������		 

��	[�(�), �(�)] 

 

���	�����ó�	���	�������	��	���������	�	�����������	��	��	���������,			��	��������	 

�����ó�	���ó����	��	���	���������.		���	���������	���ó�����	���	���	�	���. 

 

����	���	���������	���������	��	[�, �]	��	������	���: 

�)	�	��	���������	��	��(�) > 0	��	���	���������. 

�)	�	��	�����������		��	��(�) < 0	��	���	���������. 
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���	���������	���	������	�������,			����	��	�������	�������	���	������ó�	���	������ 

����í���������	��	�����ó�	�������.		���	�������,			��	�(�) = 	�� + �� + 10�,			��������		 

��(�) = 5�� + 3�� + 10	.		����		��(�) > 0		����	����		�����	��	�,			�		��	���	�����ó� 

��������	�	���������	�	���	����	�����	�������. 

 

���	�	��������	�	���ó����	��	[�, �].		������é����		� ∈ 	 [�, �]			�			�(�) = �	. 

��	��(�)		������		�			��(�) 	≠ 0,			��������		(���)�(�)			������			�			(���)�(�) =
1

��(�)
	 ∙ 

 

����:		��	��á����	��		�		�	��	��	�������		���		���	���é������	��������	�	��	���������	 

���	�������	�	������	����������	���	�������	��	�����������. 

 

���	��	��	��������	����	������	���	��	�����ó�	�������	������. 

 

EJERCICIOS 

1.−����	��	��������	����	����������	��	��	�����ó�	�(�) = 4� − 3			�����	�������. 

������ó�:		���	� = �			�				�(�) = 4� − 	3		 ⇒ 			 ��(�) = 4 

��í	���		��(�) > 0,			∀�	�	���	�,			�����	�	��	��������			�			���������	��	�,			���	��		����� 

�����	�������	��	��	�������.	 

 

2.−����	��	��������	����	����������	��	��	�����ó�	�(�) =
�

3
+ 1			�����	�������. 

������ó�:		���	� = �				�				�(�) =
�

3
+ 1			 ⇒ 			 ��(�) =

1

3
 

��í	���		��(�) > 0,			∀�	�	���	�,			�����	�	��	��������				�			���������	��	�,			���	��	����� 

�����	�������	��	��	�������. 
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3.−����	��	��������	����	����������	��	��	�����ó�	�(�) = �� + 5		�����	�������. 

������ó�:		���	� = �			�				�(�) = �� + 5			 ⇒ 			��(�) = 2� 

��í	���		��(�) > 0,			∀�	�	(0,∞)			�			��(�) < 0,			∀�	�	(−∞, 0) 

�����	�	��	��������			����	��		��	���ó����	��	��	�������.		���	��	�����			��			�����	������� 

	��	��	������� 

 

4.−����	��	��������	����	����������	��	��	�����ó�	�(�) = �� + 1		�����	�������. 

������ó�:		���	� = �				�				�(�) = �� + 1			 ⇒ 			 ��(�) = 3�� 

��í	���		��(�) > 0,			∀�	�	(−∞,∞),			�����	�	��	��������	�		���ó����	��	��	�������.					 

���	��		�����	�		�����	�������	��	��	������� 

 

5.−����	��	��������	����	����������	��	��	�����ó�	�(�) = ln	(� − 3)		�����	�������. 

������ó�:		���	� = (3,∞)			�				�(�) = ln(� − 3) 		⇒ 			 ��(�) =
1

� − 3
 

��í	���		��(�) > 0,			∀�	�	(3,∞),			�����	�	��	��������	�		���ó����	��	��	�������.					 

���	��		�����	�		�����	�������	��	��	������� 

 

6.−����	��	��������	����	����������	��	��	�����ó�	�(�) =
��

4
− 2��		�����	�������. 

������ó�:		���	� = �			�				�(�) =
��

4
− 2�� 		⇒ 			��(�) = �� − 4� 

��(�) 	= �(�� − 4) = �(� − 2)(� + 2) 

��í	���		��(�) > 0,			∀�	�	(−2,0) ∪ (2,∞)		�								 

��(�) < 0,			∀�	�	(−∞,−2) ∪ (0,2) 

	�����	�	��	��������	����	��	��		���ó����	��	��	�������.		���	��		�����	�	��	�����	�������	 

��	��	������� 
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7.−����	��	��������	����	����������	��	��	�����ó�	�(�) = 2 − � − ��		�����	�������. 

������ó�:		���	� = �			�				�(�) = 2 − � − �� 		⇒ 			 ��(�) = −1 − 3�� 

��í	���		��(�) < 0,			∀�	�	� 

	�����	�	��	��������		�			���ó����	��	��	�������.		���	��		�����	�		�����	�������	 

��	��	������� 

 

8.−����	��	��������	����	����������	��	��	�����ó�	�(�) = �� − 6�� + 9�		�����	�������. 

������ó�:		���	� = �			�				�(�) = �� − 6�� + 9�		 ⇒ 			 ��(�) = 3�� − 12� + 9 

��(�) = 3(�� − 4� + 3) = 3(� − 3)(� − 1) 

��í	���		��(�) > 0,			∀�	�	(−∞, 1) ∪ (3,∞)		�		��(�) < 0,			∀� ∈ 	 (1,3) 

�����	�	��	��������		����	��	��		���ó����	��	��	�������.		���	��		�����	�	��		�����	�������	 

��	��	������� 

 

9.−����	��	��������	����	����������	��	��	�����ó�	�(�) = (�� − 1)�		�����	�������. 

������ó�:		���	� = �			�				�(�) = (�� − 1)� 		⇒ 			 ��(�) = 2(�� − 1)(2�) 

��(�) = 4�(� − 1)(� + 1) 

��í	���		��(�) < 0,			∀�	�	(−∞,−1) ∪ (0,1)		�		��(�) > 0,			∀� ∈ 	 (−1,0) ∪ (1,∞) 

�����	�	��	��������		����	��	��		���ó����	��	��	�������.		���	��		�����	�	��		�����	�������	 

��	��	������� 

 

10.−����	�(�) = 2�� + 8� + 7			�			����������	���	� < −2,			��������		(���)�(1)	.	 

������ó�:		��		(�, �) ∈ �(�),			��������		(�, �) ∈ ���(�)	 

��	�����,			(1, �) ∈ ���(�) 	⇒ 		 (�, 1) ∈ �(�)			 

��í	���			2�� + 8� + 7 = 1			 ⇒ 		2�� + 8� + 6 = 0			 

2(�� + 4� + 3) = 0		 ⇒ 		2(� + 3)(� + 1) = 0				 ⇒ 			� = −1,			� = −3		 

����������	���	����	���			� < −2,			��	������ó�	���á		� = −3 
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��(�) = 4� + 8		 ⇒ 		��(−3) = −12 + 8 = −4	 

(���)�(1) =
1

��(−3)
= 	−

1

4
 

 

11.−����	�(�) = 2 − � − ��,			��������	(���)�(2)	.	 

������ó�:		��		(�, �) ∈ �(�),			��������		(�, �) ∈ ���(�)	 

��	�����,			(2, �) ∈ ���(�) 	⇒ 		 (�, 2) ∈ �(�),			��í	���	2 − � − �� 		= 2			 ⇒ 	−� − �� = 0					 

−�(1 + ��) = 0		 ⇒ 						� = 0,						��(�) = −1 − 3�� 		⇒ 		��(0) = −1		 

(���)�(2) =
1

��(0)
= 	

1

−1
= −1 

 

12.−����	�(�) = (5� − 1)�		�			����������	���	� ≥ 0,			��������	(���)�(1).	 

������ó�:		��		(�, �) ∈ �(�),			��������		(�, �) ∈ ���(�)	 

��	�����,			(1, �) ∈ ���(�) 	⇒ 		 (�, 1) ∈ �(�)			 

��í	���		(5� − 1)� 	= 1			 ⇒ 		5� − 1 = 1			 ⇒ 		� = 	
2

5
 

����					� ≥ 0,				��	������ó�	��		� = 	
2

5
				�				��(�) = 10(5� − 1) ⇒		�� �

2

5
� = 10	 

(���)�(1) =
1

�� �
�

�
�
= 	

1

10
 

 

13.−����	�(�) = √5� − 1		,			��������	(���)�(1).	 

������ó�:		��		(�, �) ∈ �(�),			��������		(�, �) ∈ ���(�)	 

��	�����,			(1, �) ∈ ���(�) 	⇒ 		 (�, 1) ∈ �(�)			 

��í	���		√5� − 1 	= 1			 ⇒ 		5� − 1 = 1			 ⇒ 		� = 	
2

5
 

��(�) = 	
5

2√5� − 1
⇒		�� �

2

5
� =

5

2√2 − 1
=
5

2
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(���)�(1) =
1

�� �
�

�
�
= 	

1
�

�

=
2

5
 

 

14.−����	�(�) =
2� − 3

� + 2
		,			��������	(���)�(0).	 

������ó�:		��		(�, �) ∈ �(�),			��������		(�, �) ∈ ���(�)	 

��	�����,			(0, �) ∈ ���(�) 	⇒ 		 (�, 0) ∈ �(�)			 

��í	���		
2� − 3

� + 2
	= 0			 ⇒ 		2� − 3 = 0			 ⇒ 		� = 	

3

2
 

��(�) = 	
7

(� + 2)�
⇒ 		�� �

3

2
� =

7

�
�

�
+ 2�

� =
4

7
 

(���)�(0) =
1

�� �
�

�
�
= 	

1
�

�

=
7

4
 

15.−����	�(�) =
3� − 1

� + 2
		,			��������	(���)�(0).	 

������ó�:		��		(�, �) ∈ �(�),			��������		(�, �) ∈ ���(�)	 

��	�����,			(0, �) ∈ ���(�) 	⇒ 		 (�, 0) ∈ �(�)			 

��í	���		
3� − 1

� + 2
	= 0			 ⇒ 		3� − 1 = 0			 ⇒ 		� = 	

1

3
 

��(�) = 	
7

(� + 2)�
⇒ 		�� �

1

3
� =

7

�
�

�
+ 2�

� =
9

7
 

(���)�(0) =
1

�� �
�

�
�
= 	

1
�

�

=
7

9
 

16.−����	�(�) =
3� + 4

2� + 6
		,			��������	(���)�(1).	 

������ó�:		��		(�, �) ∈ �(�),			��������		(�, �) ∈ ���(�)	 

��	�����,			(1, �) ∈ ���(�) 	⇒ 		 (�, 1) ∈ �(�)			 

��í	���		
3� + 4

2� + 6
	= 1			 ⇒ 		3� + 4 = 2� + 6			 ⇒ 		� = 2			 
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��(�) = 	
10

(2� + 6)�
⇒		��(2) =

10

(4 + 6)�
=

1

10
 

(���)�(1) =
1

��(2)
= 	

1
�

��

= 10 

17.−����	�(�) =
� + 2

1 − 3�
		,			��������	(���)�(1).	 

������ó�:		��		(�, �) ∈ �(�),			��������		(�, �) ∈ ���(�)	 

��	�����,			(1, �) ∈ ���(�) 	⇒ 		 (�, 1) ∈ �(�)			 

��í	���		
� + 2

1 − 3�
	= 1			 ⇒ 		� + 2 = 1 − 3�			 ⇒ 		� = −

1

4
 

��(�) = 	
7

(1 − 3�)�
⇒ 		�� �−

1

4
� =

7

�1 +
�

�
�
� =

7
��

��

= 	
16

7
 

(���)�(1) =
1

�� �−
�

�
�
= 	

1
��

�

= 	
7

16
 

18.−	��	�(�) = 	�� + 3� − 1 ∶ 

�. −���������	���	�	�����	������� 

��. −�������	��	���������	��	��	�����	��������	�	��	��á����	��	�	��	��	�����	(1,3). 

���. −�������	��	��������	��	��	�����	��������	�	��	��á����	��	���(�)��	��	�����	(3,1). 

��.−������	���	��á�����	��		�		�		���		��	��	�����	�������	��	�����������. 

 

������ó�	�: ���	� = �, �(�) = 	�� + 3� − 1				 ⇒ 		��(�) = 3�� + 3	 

��(�) > 0			∀� ∈ ���	�,			�����		�	��	��������	�	���ó����	��	���	�		�		���	��		�����	 

�����	�������. 

������ó�	��:	�(�) = 	 �� + 3� − 1				 ⇒ 		��(�) = 3�� + 3,			��í		���	��	���������	��	��	 

�����	��������	�	��	��á����	��	�	��	(1,3)		��			��(1) = 6. 

������ó�	���:		���������	��	��	�����	��������	�	��	��á����	��		���(�)		��			(3,1)		��		 

[���(3)]� = 	
1

��(1)
= 	

1

6
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������ó�	�� ∶ ����	������	���	��á�����	��	�		�		���	��	��	�����		�������	��	�����������	 

��	�������	�	������	���	��á�����	��	���	����������	�����	��	�������: 

�  ��� 
0 -1  -1 0 

1 3  3 1 

2 13  13 2 

-1 -5  -5 -1 

-2 -15  -15 -2 

 

 

��	��	�����	��á����	��	������	���	������		��	��	�������	�����	��	�������			�	��	�����á	�� 

��á����	��	��	�����ó�	�������		���. 

 

19.−	��	�(�) = 6 − 	� − �� ∶ 

�. −���������	���	�	�����	������� 

��. −�������	��	���������	��	��	�����	��������	�	��	��á����	��	�	��	��	�����	(2,−4). 

���. −�������	��	��������	��	��	�����	��������	�	��	��á����	��	���(�)��	��	�����	(−4, 2). 

��.−������	���	��á�����	��		�		�		���		��	��	�����	�������	��	�����������. 

������ó�	�: ���	� = �, �(�) = 6 − 	� − �� 	⇒ 		��(�) = −1 − 3�� 

��(�) < 0			∀� ∈ ���	�,			�����		�	��	��������	�	���ó����	��	���	�		�		���	��		�����	 

�����	�������. 

��	�����	��������	���	����	�����ó�	�����	�������,			����	��	�������	�������	���	������ó�	 

���	������		����í���������	��	�����ó�	�������.		 
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������ó�	��:			�(�) = 	6 − 	� − �� 				⇒ 		��(�) = −1 − 3��	,			��í		���	��	���������	��	��	 

�����	��������	�	��	��á����	��	�	��	(2,−4)		��			��(2) = −13. 

������ó�	���:		���������	��	��	�����	��������	�	��	��á����	��		���(�)		��			(−4, 2)		��		 

[���(−4)]� = 	
1

��(2)
= 	−

1

13
 

������ó�	�� ∶ ����	������	���	��á�����	��	�		�		���	��	��	�����		�������	��	�����������	 

��	�������	�	������	���	��á�����	��	���	����������	�����	��	�������: 

 

�  ��� 
0 6  6 0 

1 4  4 1 

2 -4  -4 2 

-1 8  8 -1 

-2 16  16 -2 

 

 

 

��	��	�����	��á����	��	������	���	������		��	��	�������	�����	��	�������			�	��	�����á	�� 

��á����	��	��	�����ó�	�������		���. 
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���������	���		�����(�)� = �		�		���		�����(�)� = � 
 

1.−��				�(�) = √� + 1,			����������			���(�).				���������			���			���[�(�)] = � 

								�			���			�[���(�)] = �		.	 

������ó�.		���		� = √� + 1	,				��������					� − 1 = √� 					⟹				 [� − 1]� = � 

��	�����ó�	�������	���á		���(�) = (� − 1)� 

�.−���������	���			���[�(�)] = �	,					���������		 �
���(�) = (� − 1)�

�(�) = √� + 1
� 

���[�(�)] = 	 [(�(�)) − 1]� 

���[�(�)] = ��√� + 1� − 1�
�
				⟹ 				���[�(�)] = �√��

�
= �		 

	�. −���������	���		�[���(�)] = �					���������		 �
�(�) = √� + 1

���(�) = (� − 1)�
� 

�[���(�)] = 			����(�) + 1 

�[���(�)] = �(� − 1)� + 1				 ⟹ 		�[���(�)] = (� − 1) + 1 = � 

 

2.−��				�(�) = 1 +	��
�

� + 2�

�

�
,			����������			���(�).				���������	���	���[�(�)] = � 

								�			���			�[���(�)] = �		.	 

������ó�:			���		� = 1 +	��
�

� + 2�

�

�
		��������				� − 1 = 	��

�

� + 2�

�

�
		⟹			 (� − 1)

�

� = 	�
�

� + 2		 

(� − 1)
�

� − 2 = 	�
�

� 					⟹ 					� = �(� − 1)
�

� − 2�
�

 

��	�����ó�	�������	��		���(�) = 	 �(� − 1)
�

� − 2�
�

 

�.−���������	���			���[�(�)] = �	,							���������			

⎩
⎨

⎧���(�) = 	 �(� − 1)
�

� − 2�
�

�(�) = 1 +	��
�

� + 2�

�

�

�. 

���[�(�)] = �(�(�) − 1)
�

� − 2�
�

 



Problemas resueltos ������	���	�����(�)� = �			�				�����(�)� = � 

23 
 

���[�(�)] = ��1 +	��
�

� + 2�

�

�
− 1�

�

�

− 2�

�

				⟹				 ���[�(�)] = ����
�

� + 2�

�

�
�

�

�

− 2�

�

 

���[�(�)] = 		 ���
�

� + 2� − 2�
�

= ��
�

��
�

= �				 

�. −���������	���		�[���(�)] = �	,						���������		

⎩
⎨

⎧ �(�) = 1 +	��
�

� + 2�

�

�

���(�) = 	 �(� − 1)
�

� − 2�
�
� 

�[���(�)] = 		1 +	�����(�)�
�

� + 2�

�

�

					⟹ 				1 +	���(� − 1)
�

� − 2�
�

�

�

�

+ 2�

�

�

 

1 +	���(� − 1)
�

� − 2�
�

�

�

�

+ 2�

�

�

= 1 + �(� − 1)
�

� − 2 + 2�

�

�
 

	�[���(�)] = 1 + �(� − 1)
�

��

�

�
			⟹ 			�[���(�)] = 1 + (� − 1) 	= � 

 

3.−��			�(�) = 	1 +	��
�

� − 2�

�

�
		����������			���(�).				���������	���	���[�(�)] = � 

								�			���			�[���(�)] = �		.	 

������ó�:			���		� = 1 +	��
�

� − 2�

�

�
		��������				� − 1 = 	��

�

� − 2�

�

�
		⟹			 (� − 1)

�

� = 	�
�

� − 2		 

(� − 1)
�

� + 2 = 	�
�

� 					⟹ 					� = �(� − 1)
�

� + 2�

�

�
 

��	�����ó�	�������	��		���(�) = 	 �(� − 1)
�

� + 2�

�

�
 

�.−���������	���			���[�(�)] = �,				���������		

⎩
⎪
⎨

⎪
⎧
���(�) = 	 �(� − 1)

�

� + 2�

�

�

�(�) = 	1 +	��
�

� − 2�

�

�

� 

���[�(�)] = �(�(�) − 1)
�

� + 2�

�

�
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���[�(�)] = ��1 +	��
�

� − 2�

�

�
− 1�

�

�

+ 2�

�

�

				⟹				 ���[�(�)] = ����
�

� − 2�

�

�
�

�

�

+ 2�

�

�

 

���[�(�)] = 		 ���
�

� − 2� + 2�

�

�
= ��

�

��

�

�
= �				 

 

�. −���������	���		�[���(�)] = �,				���������		

⎩
⎪
⎨

⎪
⎧

�(�) = 	1 +	��
�

� − 2�

�

�

���(�) = 	 �(� − 1)
�

� + 2�

�

�

� 

�[���(�)] = 		1 +	�����(�)�
�

� − 2�

�

�

 

�[���(�)] = 		1 +	���(� − 1)
�

� + 2�

�

�
�

�

�

− 2�

�

�

 

1 +	�(� − 1)
�

� + 2 − 2�

�

�
= 1 + �(� − 1)

�

��

�

�
 

	�[���(�)] = 1 + (� − 1) 	= � 

 

4.−��				�(�) = 	�(�� − 2)� + 5				����������			���(�).				���������	���	���[�(�)] = � 

								�			���			�[���(�)] = �		.	 

������ó�:					���				� = 	�(�� − 2)� + 5		,						��������			�� = 	 (�� − 2)� + 5 

�� − 5 = 	 (�� − 2)� 				⟹				 ��� − 5
�

= 	�� − 2		 ⟹			 ��� − 5
�

+ 2 = 	�� 

� = ���� − 5
�

+ 2
�

 

��	�����ó�	�������	��			���(�) = 	 ���� − 5
�

+ 2
�

 

�.−���������	���		���[�(�)] = �			���������		 �
���(�) = 	 ���� − 5

�
+ 2

�

�(�) = 	�(�� − 2)� + 5

� 
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���[�(�)] = 	 ��[�(�)]� − 5
�

+ 2
�

			⟹		���[�(�)] = 	 ����(�� − 2)� + 5�
�
− 5

�

+ 2
�

 

���[�(�)] = 	 ��[(�� − 2)� + 5] − 5
�

+ 2
�

 

���[�(�)] = 	 ��(�� − 2)�
�

+ 2
�

	= 	 �(�� − 2) + 2
�

= �(��)
�

= � 

�. −���������	���	�[���(�)] = �			���������		 �
�(�) = 	�(�� − 2)� + 5

���(�) = 	 ���� − 5
�

+ 2
�

� 

�[���(�)] = 	������� − 5
�

+ 2
�

�

�

− 2�

�

+ 5 

�[���(�)] = 	������ − 5
�

+ 2� − 2�
�
+ 5 

�[���(�)] = ����� − 5
�

�
�
+ 5 = 		�(�� − 5) + 5 = ��� = � 

 

5.−��				�(�) = 	�1 − (� − 2)�		����������			���(�).				���������	���	���[�(�)] = � 

								�			���			�[���(�)] = �		.	 

������ó�:				���			� = 		�1 − (� − 2)�				��������			�� = 	1 − (� − 2)� 

�� − 1 =	−(� − 2)� 	⟹ 			1 −	�� = (� − 2)� 	⟹		 �1 −	��
�

= 	� − 2	 

�1−	��
�

+ 2 = 	�							��	�����ó�	�������	��			���(�) = �1 −	��
�

+ 2 

�.−���������	���		���[�(�)] = �			���������		 �
���(�) = �1 −	��

�
+ 2

�(�) = 	�1 − (� − 2)�
� 

���[�(�)] = 	 �1 −	[�(�)]�
�

+ 2 

���[�(�)] = 	 �1 −	��1 − (� − 2)��
��

+ 2 =	 �1 −	[1 − (� − 2)�]
�

+ 2 

���[�(�)] = 	 �1 − 	1 + (� − 2)�
�

+ 2 = �(� − 2)�
�

+ 2 = 		 (� − 2) + 2 = �	 
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�. −���������	���		�[���(�)] = �			���������		 �
�(�) = 	�1 − (� − 2)�

���(�) = �1 −	��
�

+ 2

� 

�[���(�)] 	= 	�1 − (���(�) − 2)� 

�[���(�)] = 	�1 − ���1 −	��
�

+ 2� − 2�
�

 

�[���(�)] = 	�1 − ��1 −	��
�

+ 2 − 2�
�

 

�[���(�)] = 	�1 − ��1 −	��
�

�
�
= �1 − (1 −	��) = � 

 

6.−��				�(�) = 	 ��1 +
1

��
�
�

+ 1�

�

�

		����������			���(�).				���������	���	���[�(�)] = � 

								�			���			�[���(�)] = �		.	 

������ó�:		���			� = 	 ��1 +
1

��
�
�

+ 1�

�

�

						��������				�
�

� = �1 +
1

��
�
�

+ 1 

�
�

� − 1 = �1 +
1

��
�
�

			⟹				 ��
�

� − 1
�

= 	1 +
1

��
						⟹					 ��

�

� − 1
�

− 1 = 	
1

��
 

1

��
�

� − 1
�

− 1

= �� 					⟹ 						� =
1

���
�

� − 1
�

− 1
�

 

��	�����ó�	�������	��		���(�) =
1

���
�

� − 1
�

− 1

�

 

�)	���������	���		���[�(�)] = �	���������		

⎩
⎪
⎪
⎨

⎪⎪
⎧���(�) =

1

���
�

� − 1
�

− 1

�

�(�) = 	 ��1 +
1

��
�
�

+ 1�

�

�

� 
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���[�(�)] =
1

��(�(�))
�

� − 1
�

− 1
�

 

���[�(�)] =
1

�����1 +
�

��
�
�
+ 1�

�

�

�

�

�

− 1

�

− 1

�

 

���[�(�)] =
1

���1 +
�

��
�
�
+ 1 − 1

�

− 1
�

	= 	
1

���1 +
�

��
�
��

− 1
�

=
1

��1 +
�

��
� − 1

�
 

���[�(�)] = 	
1

�
�

��

�
=

1
�

�

= �	 

�)���������	���		�[���(�)] = �			���������		

⎩
⎪
⎪
⎨

⎪⎪
⎧
�(�) = 	 ��1 +

1

��
�
�

+ 1�

�

�

���(�) =
1

���
�

� − 1
�

− 1

�

� 

�[���(�)] = 	 ��1 +
1

����(�)�
��

�

+ 1�

�

�

 

�[���(�)] = 	

⎣
⎢
⎢
⎢
⎢
⎢
⎢
⎢
⎢
⎢
⎡

⎝

⎜
⎜
⎜
⎜
⎜
⎜
⎜
⎛

1+
1

⎝

⎜
⎛ �

���
�
���

�

��

�

⎠

⎟
⎞

�

⎠

⎟
⎟
⎟
⎟
⎟
⎟
⎟
⎞

�

+ 1

⎦
⎥
⎥
⎥
⎥
⎥
⎥
⎥
⎥
⎥
⎤

�

�
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	�[���(�)] = 	

⎣
⎢
⎢
⎢
⎡

⎝

⎜
⎛
1 +

1
�

��
�
���

�

��⎠

⎟
⎞

�

+ 1

⎦
⎥
⎥
⎥
⎤

�

�

 

�[���(�)] = 	 ��1 + ��
�

� − 1
�

− 1�

�

+ 1�

�

�

= ����
�

� − 1
�

�

�

+ 1�

�

�

= ���
�

� − 1� + 1�

�

�
 

�[���(�)] = ��
�

��

�

�
= � 

 

7.−��				�(�) = 	 �√�
�

+ 1�
�
					����������			���(�).				���������	���	���[�(�)] = � 

								�			���			�[���(�)] = �		.	 

������ó�:		���			� = �√�
�

+ 1�
�
					��������				�

�

� = √�
�

+ 1 

�
�

� − 1 = √�
�

			⟹				 ��
�

� − 1�
�

= � 

��		�����ó�		�������		��			���(�) = ��
�

� − 1�
�

 

�)	���������	���		���[�(�)] = �		���������			 �
���(�) = ��

�

� − 1�
�

�(�) = 	 �√�
�

+ 1�
�
� 

���[�(�)] = �(�(�))
�

� − 1�
�

⟹		���[�(�)] = ���√�
�

+ 1�
�
�

�

�
− 1�

�

 

���[�(�)] = ��√�
�

+ 1� − 1�
�
= 	 �√�

�
�
�
= � 

�)���������	���		�[���(�)] = �		���������		 �
�(�) = 	 �√�

�
+ 1�

�

���(�) = ��
�

� − 1�
�� 

�[���(�)] = ��(���(�))
�

+ 1�
�

 

�[���(�)] 	= 	 ����
�

� − 1�
��

+ 1�

�

= 	 ��
�

� − 1 + 1�
�

= ��
�

��
�

= � 
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8.−��				�(�) = 	 �
2

3
− √3� + 1�

�

					����������			���(�).				���������	���	���[�(�)] = � 

								�			���			�[���(�)] = �		.	 

������ó�:			���				� = 	 �
2

3
− √3� + 1�

�

				��������					�
�

� = 	
2

3
− √3� + 1 

�
�

� = 	
2

3
− √3� + 1 			⟹	

2

3
−	�

�

� 	= √3� + 1 			⟹		 �
2

3
−	�

�

��
�

= 3� + 1	 

�
2

3
−	�

�

��
�

− 1 = 3�						 ⟹ 					
1

3
��
2

3
−	�

�

��
�

− 1� = �						 

��	�����ó�	�������		��			���(�) = 		
1

3
��
2

3
−	�

�

��
�

− 1� 

�)	���������	���		���[�(�)] = �		���������		

⎩
⎪
⎨

⎪
⎧���(�) = 		

1

3
��
2

3
−	�

�

��
�

− 1�

�(�) = 	 �
2

3
− √3� + 1�

�
� 

���[�(�)] = 	
1

3
��
2

3
−	�(�)

�

��
�

− 1� 

���[�(�)] = 	
1

3
��
2

3
−	��

2

3
− √3� + 1�

�

�

�

�

�

�

− 1� 

���[�(�)] =
1

3
��
2

3
−	

2

3
+ √3� + 1�

�

− 1� 	=
1

3
[3� + 1 − 1] 

���[�(�)] =
1

3
(3�) = � 

�)	���������			���			�[���(�)] = �			���������		

⎩
⎪
⎨

⎪
⎧ �(�) = 	 �

2

3
− √3� + 1�

�

���(�) = 	
1

3
��
2

3
−	�

�

��
�

− 1�

� 

�[���(�)] = �
2

3
− �3(���(�)) + 1�

�
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�[���(�)] = �
2

3
− �3

1

3
��
2

3
−	�

�

��
�

− 1� + 1�

�

 

�[���(�)] = �
2

3
− ��

2

3
−	�

�

��
�

− 1 + 1�

�

= �
2

3
− ��

2

3
−	�

�

��
�

�

�

 

�[���(�)] = �
2

3
−
2

3
+	�

�

��
�

= ��
�

��
�

= � 

 

9.−��				�(�) = 	
��

�

� + 2
�

+ 8

��
�

� + 2
�

+ 9

					����������			���(�).				���������	���	���[�(�)] = � 

								�			���			�[���(�)] = �		.	 

������ó�:			���			� = 	
��

�

� + 2
�

+ 8

��
�

� + 2
�

+ 9

						��������					 

� ���
�

� + 2
�

+ 9� = ��
�

� + 2
�

+ 8			 ⟹ 					� ���
�

� + 2
�

� + 9� = ��
�

� + 2
�

+ 8 

� ���
�

� + 2
�

� − ��
�

� + 2
�

= 8 − 9�	 ⟹			���
�

� + 2
�

� (� − 1) = 8 − 9� 

 

���
�

� + 2
�

� = 	
8 − 9�

� − 1
				⟹		 �

�

� + 2 = 	�
8 − 9�

� − 1
�
�

 

�
�

� = 	 �
8 − 9�

� − 1
�
�

− 2				 ⟹ 			� = 	 ��
8 − 9�

� − 1
�
�

− 2�

�

 

��	�����ó�	�������	��		���(�) = ��
8 − 9�

� − 1
�
�

− 2�

�
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�)���������	���			���[�(�)] = �		���������		

⎩
⎪⎪
⎨

⎪⎪
⎧���(�) = ��

8 − 9�

� − 1
�
�

− 2�

�

�(�) = 	
��

�

� + 2
�

+ 8

��
�

� + 2
�

+ 9

� 

���[�(�)] = ��
8 − 9�(�)

�(�) − 1
�

�

− 2�

�

 

���[�(�)] =

⎣
⎢
⎢
⎢
⎢
⎢
⎡

⎝

⎜
⎜
⎜
⎛8− 9�

��
�
���

�

��

��
�
���

�

��

�

��
�
���

�

��

��
�
���

�

��

− 1

⎠

⎟
⎟
⎟
⎞

�

− 2

⎦
⎥
⎥
⎥
⎥
⎥
⎤
�

 

���[�(�)] =

⎣
⎢
⎢
⎢
⎢
⎡

⎝

⎜⎜
⎛
8���

�

� + 2
�

+ 9� − 9���
�

� + 2
�

+ 8�

���
�

� + 2
�

+ 8� − ���
�

� + 2
�

+ 9�
⎠

⎟⎟
⎞

�

− 2

⎦
⎥
⎥
⎥
⎥
⎤
�

 

���[�(�)] =

⎣
⎢
⎢
⎢
⎢
⎡

⎝

⎜⎜
⎛
8���

�

� + 2
�

� + 72 − 9���
�

� + 2
�

� − 72

���
�

� + 2
�

� + 8 − ���
�

� + 2
�

� − 9
⎠

⎟⎟
⎞

�

− 2

⎦
⎥
⎥
⎥
⎥
⎤
�

 

���[�(�)] =

⎣
⎢
⎢
⎢
⎢
⎡

⎝

⎜⎜
⎛
−���

�

� + 2
�

�

−1

⎠

⎟⎟
⎞

�

− 2

⎦
⎥
⎥
⎥
⎥
⎤
�

= 	 ����
�

� + 2
�

�

�

− 2�

�

 

���[�(�)] = ��
�

� + 2 − 2�
�

= ��
�

��
�

= � 

�)���������	���		�[���(�)] = �		���������		

⎩
⎪⎪
⎨

⎪⎪
⎧

�(�) = 	
��

�

� + 2
�

+ 8

��
�

� + 2
�

+ 9

���(�) = ��
8 − 9�

� − 1
�
�

− 2�

�

� 
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�[���(�)] =
�(���(�))

�

� + 2
�

+ 8

�(���(�))
�

� + 2
�

+ 9

 

�[���(�)] =

����
����

���
�
�
− 2�

�

�

�

�

+ 2
�

+ 8

����
����

���
�
�
− 2�

�

�

�

�

+ 2
�

+ 9

 

�[���(�)] =
��

����

���
�
�
− 2 + 2

�

+ 8

��
����

���
�
�
− 2 + 2

�

+ 9

= 	
��

����

���
�
��

+ 8

��
����

���
�
��

+ 9

 

�[���(�)] = 	

����

���
+ 8

����

���
+ 9

=
8 − 9� + 8� − 8

8 − 9� + 9� − 9
=
−�

−1
= � 

 

10.−��				�(�) = � √���
�

						����������			���(�).				���������	���	���[�(�)] = � 

								�			���			�[���(�)] = �		.	 

������ó�:		���		� = 		 � √���
�

		��������		 ln � = ln �� √���
�

� 		⟹			 ln � = √� + 1
�

 

ln�� = � + 1				 ⟹				 ln�� − 1 = �				 

��	�����ó�	�������	��		���(�) = [ln	(�)]� − 1 

�.−���������	���			���[�(�)] = �				���������		 �
���(�) = [ln	(�)]� − 1

�(�) = � √���
�

� 

���[�(�)] 	= �ln��(�)��
�
− 1	 

���[�(�)] = �ln	(� √���
�

)�
�
− 1				 ⟹				 ���[�(�)] = �√� + 1

�
�
�
− 1		 

���[�(�)] = (� + 1) − 1 = � 

	�. −���������	���		�[���(�)] = �			���������			 �
�(�) = � √���

�

���(�) = [ln	(�)]� − 1
� 

		�[���(�)] = 	 � ����(�)��
�

			⟹ 		�[���(�)] = � �[��	(�)]�����
�
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		�[���(�)] = � �[��	(�)]�
�

				⟹ 			�[���(�)] = ���	(�) = � 

 

11.−��				�(�) = 5�√�����
�

						����������			���(�).				���������	���	���[�(�)] = � 

								�			���			�[���(�)] = �		.	 

������ó�:			���		� = 		5�√�����
�

		��������		 ln(�) = 	 �√3� + 1�
�
ln	5	 

ln �

ln	5
		= 	 �√3� + 1�

�
		⟹			 �

ln �

ln	5
�

�

�

= 3� + 1		 ⟹			
1

3
��

ln �

ln	5
�

�

�

− 1� = �	 

��	�����ó�	�������	��		���(�) =
1

3
��

ln �

ln	5
�

�

�

− 1� 

�)���������	���	���[�(�)] = �	���������			

⎩
⎪
⎨

⎪
⎧
���(�) =

1

3
��

ln �

ln	5
�

�

�

− 1	�

�(�) = 5�√�����
�

� 

���[�(�)] =
1

3
��

ln �(�)

ln	5
�

�

�

− 1	� =
1

3

⎝

⎛�
ln5�√�����

�

ln	5
�

�

�

− 1	

⎠

⎞ 

���[�(�)] =
1

3
��

ln5(����)

ln	5
� − 1	� =

1

3
��

(3� + 1) ln 5

ln	5
� − 1	� =

1

3
((3� + 1) − 1	) 

���[�(�)] =
1

3
�(3� + 1) − 1	� =

1

3
(3�	) = � 

�)���������	���	�[���(�)] = �		���������			

⎩
⎪
⎨

⎪
⎧ �(�) = 5�√�����

�

���(�) =
1

3
��

ln �

ln	5
�

�

�

− 1	�
� 

�[���(�)] = 	�(�) = 5
������(�)���

�

 

�[���(�)] = 	5

���
�

�
��

���

���
�

�
�
��	����

�

= 		5

����
���

���
�

�
�
��	����

�

= 	5

���
���

���
�

�
�
�����

�
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	�[���(�)] = 		 5

���
���

���
�

�
�
�����

�

= 5

���
���

���
�

�
�
�

�

= 5
���

��� 

�[���(�)] = 5
���

��� 			⟹ 			ln(�[���(�)]) = 	
ln �

ln	5
ln(5) 		⟹ 		ln(�[���(�)]) = 	ln	(�) 

�[���(�)] = � 
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��������		��	��������� 
���������������		�		���		�������� 

1.−			� = sen(�) 

��á����	��	sen(�)		�		arcsen(�) 
(�������	�����������	����	��������	��	����������	��	��	�������) 

 

 

�(�) = sen(�) 			⇒ 				 ��(�) = cos	(�) 

∀	� ∈ 	 �−
�

2
,
�

2
� , ��(�) = 	 cos(�) ≥ 0				��������		��(�) ≥ 0		��		 �−

�

2
,
�

2
�.	 

�(�)		��		��������	�		���������		��		 �−
�

2
,
�

2
� ,			���	��	�����	�����	�������.	 

�����	�í����	��	�(�):		sen(�) = 	−1			 ⇒ 				� = −	
�

2
			,						� �−	

�

2
,−1� 

	�����	�á����	��	�(�):				sen(�) = 1			 ⇒ 				� = 	
�

2
		,								� �

�

2
, 1� 

sen(�) = 0			 ⇒ 			� = 0	,				�(0, 0) 

��	�������	��	�(�)			���á	��������	���			���(�) = arcsen	�	. 

 
�(�) = sen(�) 

 

 
��� = arcsen(�) 

 

 

���	� = �−
�

2
,
�

2
� 

 
���	��� = 	 [−1,1] 

 
����	� = [−1,1] 

 

 

����	��� = 	 �−
�

2
,
�

2
� 
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					2.−		� = cos	(�) 

��á����	��		cos(�)		�		arccos(�) 
(�������	�����������	����	��������	��	����������	��	��	�������) 

 

		�(�) = cos(�) 			⇒ 			 ��(�) = 	−sen(�) 

∀� ∈ 	 [0,			�]		��		��(�) = 	−sen(�) ≤ 0,					��������			��(�) ≤ 0		��		[0,			�] 

�����		�(�)	��		��������	�	�����������	��		[0,			�],			�			���	�����	�����	������� 

�����	�í����	��	�(�):	cos(�) = −1			 ⇒ 		� = �		,				�(�, −1) 

�����		�á����	��	�(�):	cos(�) = 1		 ⇒ 			� = 0		,			�(0, 1) 

cos(�) = 0		 ⇒ 		� = 	
�

2
	,				� �

�

2
, 0� 

�(�) = ���(�)			�����	�������			�		���á		��������	���		���(�) = arccos(�). 

 

 
�(�) = cos(�) 

 
��� = arccos(�) 

 
���	� = [0,			�] 

 
���	��� = 	 [−1, 1] 

 
����	� = [−1,1] 

 
����	��� = 	 [0,			�] 
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3.−				� = tan	(�) 

��á����	��		tan(�)		�		arctan(�) 
(�������	�����������	����	��������	��	����������	��	��	�������) 

 

�(�) = tan(�) 		⇒ 			�(�) = 	
sen	(�)

cos	(�)
	,			��(�) = 	 sec�(�) > 0		��		 �−

�

2
,
�

2
�	. 

�(�) = tan(�)		��	��������	�	���������	��	 �−
�

2
,
�

2
� 	�	���	�����	�����	�������	 

��	����	�����	����	���			���(�) = arctan(�). 

� =
�

2
			⇒ 			 cos �

�

2
� = 0	 			��í	���		tan(�)		��	���á	���������	����		� =

�

2
 

� = −
�

2
				⇒ 			 cos �−

�

2
� = 0	 	��í	���		tan(�)		��	���á	���������	����		� = −

�

2
 

� = 0			 ⇒ 		 cos(0) = 1 				�����	tan(0) = 0		,						�(0, 1) 

	� ∈ [0�, �
�

2
� ,			� → 	 �

�

2
�
�

⇒ 	sen(�) → 1,			 cos(�) → 0� ,				⇒ lim
�→�

�

�
�
� tan(�)	 = ∞ 

� ∈ �−
�

2
, �0]� ,			� → 	 �−

�

2
�
�

⇒ 	sen(�) → −1,			 cos(�) → 0� ,			⇒ lim
�→��

�

�
�
�
tan(�)	 = −∞							 

� → 	�
�

2
�
�

		⇒ 			�	 → 		∞,			� → 	 �−
�

2
�
�

		⇒ 			�	 → 	−	∞ 

 

�(�) = tan(�) 
 

���(�) = arctan(�) 
 

���	� = 	 �−
�

2
,
�

2
� ���	��� = 	 (−∞,∞) 

����	� = 	 (−∞,∞) 
 

����	��� = 	�−
�

2
,
�

2
� 
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4.−			� = 	 sec(�) 

��á����	��		sec(�)		�		arcsec(�) 
(�������	�����������	����	��������	������������	��	��	�������) 

 

 

�(�) = sec(�) = 	
1

cos	(�)
	,				��	���á	��������	����	� =

�

2
 

��		�(�) = sec(�) 		��			��(�) =
sen	�

cos��
,					∀� ∈ 	 �0, �

�

2
�� ∪ �

�

2
, ��]�,		 

� ∈ �0, �
�

2
�� 	⇒ 	 �

sen	�	 > 0
cos � > 0	 ⇒ cos�� > 0

� 		⇒ 		 ��(�) > 0	��			 �0, �
�

2
�� 

� ∈ �
�

2
, ��]� 	⇒ 	 �

���	�	 > 0
cos � < 0	 ⇒ cos�� > 0

� 		⇒ 		 ��(�) > 0	��			 �
�

2
, ��]� 

sec(�) 	��	��������	�	���������	,			���	�����	������	��	�������		���(�) = arcsec(�). 

��		� = 0,			��������		
1

cos	(�)
=

1

cos	(0)
= 1,			��í	���		 sec(0) = 1		,				�(0,1) 

s�			� = �	,			��������		
1

cos	(�)
=

1

cos	(�)
= −1	,				��í	���		 sec(�) = −1	,			�(�, −1) 

		��		� ∈ �0, �
�

2
�� ,			� → 			

�

2

�

⇒	 cos(�) → 0�,				��������	 lim
�→

�

�

� sec(�) = 	∞	,							 

��		� ∈ �
�

2
,� ��],			�	 → 		

�

2

�

	⇒ 	 cos(�) → 0�,				�����			 lim
�→

�

�

�
sec(�) = −	∞,							 

�(�) = sec(�) ��� = arcsec(�) 

���	� = �0, �
�

2
�� ∪ �

�

2
, ��]� ���	��� =	 (−∞�, �−1] ∪ [1�, �∞) 

����	� = 	 (−∞�, �−1] ∪ [1�, �∞) 
 

����	��� = 	 �0, �
�

2
�� ∪ �

�

2
, ��]� 
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5.−		� = csc(�) 

��á����	��		csc(�)		�		arccsc(�) 
(�������	�����������	����	��������	��	����������	��	��	�������) 

 

 

�(�) = csc(�) = 	
1

sen(�)
,			��í	���	 csc(�) 	��	���á	��������	����		� = 0 

�(�) = csc(�) 		⇒ 		��(�) = 	−	
cos�

sen��
		��			� ∈ �−

�

2
, �0)� ∪ �0, �

�

2
�� 

� ∈ �−
�

2
� , �0) 	⇒ 		 �sen	�	 < 0	 ⇒ 	 sen�� > 0

cos �	 > 0
� 	⇒ 		��(�) < 0		��	 �−

�

2
� , �0) 

� ∈ (0,� �
�

2
� 	⇒ 		 �sen	�	 > 0	 ⇒ 	 sen�� > 0

cos �	 > 0
� 		⇒ ��(�) < 0		��		(0,� �

�

2
� 

csc(�) 		��	��������	�	�����������	�	���	�����	������	��	�������	���(�) = ������(�) 

� = −
�

2
	,			

1

sen(�)
				⇒ 			

1

sen �−
�

�
�
= −1					� �−

�

2
,−1� 

� =
�

2
	,			

1

sen(�)
			⇒ 				

1

sen �
�

�
�
= 1					� �

�

2
, 1� 

	∀� ∈ �0, �
�

2
�� ,			sen(�) > 0,			����� lim

�→��

1

sen(�)
= ∞							� → 	0�	 		⇒ 			�	 → 		∞ 

∀� ∈ �−
�

2
, �0)� ,			sen(�) < 0,			����� lim

�→��

1

sen(�)
= −∞							� → 	0�	 		⇒ 			�	 → 	−	∞ 

 

�(�) = csc(�) ��� = arccsc(�) 

���	� = �−
�

2
, �0)� ∪ �0, �

�

2
�� ���	��� =	 (−∞�, �−1] ∪ [1�, �∞) 

����	� = 	 (−∞�, �−1] ∪ [1�, �∞) 
 

����	��� = 	 �−
�

2
, 0)� ∪ �0, �

�

2
�� 
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6.−		� = 		cot	(�) 

��á����	��		cot(�)		�		arccot(�) 
(�������	�����������	����	��������	��	����������	��	��	�������) 

 

 

�(�) = cot(�) 		⇒ 		�(�) = 	
cos(�)

sen	(�)
,			��	������	��í������		����������	��		� = 0	�		� = � 

�(�) = cot(�) ��(�) = −�
1

sen	(�)
�
�

< 0,			��í	��� cot(�) 	��	��������	�	�����������	��	 

(0, �)			�			��	�������		���á		��������	���		���(�) = arccot(�). 

� = 	
�

2
			⇒ 		sen �

�

2
� = 1,			 cos �

�

2
� = 0 ,			��í	���	cot �

�

2
� = 0.				� �

�

2
, 0� 

� = 	
�

4
			⇒ 		sen �

�

4
� =

√2

2
,			cos �

�

4
� =

√2

2
,			��í	���	cot �

�

4
� = 1.				� �

�

4
, 1� 

∀� ∈ (0, �)	,			��		� → 	 0�			��������				
cos(�)

sen	(�)
	→ 		∞	 

∀� ∈ (0, �)	,			��		� → 	��			��������				
cos(�)

sen(�)
	→ 	−∞ 

�(�) = cot(�) 
 

��� = arccot(�) 
 

���	� = 		 (0, �) ���	��� = 	 (−∞,∞) 
����	� = 	 (−∞,∞) 

 
����	��� = 		 (0, �) 
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AMPLITUD, PERIODO, DESFASE, DOMINO, RANGO,INVERSA 
Y GRAFICA DE FUNCIONESTRIGONOMÉTRICAS  

 

 

��	���	���������	�(�) = �	sen[�(� − �)]		�				�(�) = � cos[�(� − �)], ���	�������	��		�, �, �	�	 

������	���	����������	������������: 

"A"	����������	��������	,			�������	��	�����	�í����	�		�á����	��	�(�)		�		�����	����	 

���	��	�����	��������	��	A,			��	�����	�������� = ‖�‖. 

���������	"b"		����������������������í���	�	���������ó����������������������ó� 

� =
2�

‖�‖
	.		����	���í���	��	��	������	����	�	�á�	�����ñ�	���	���		�(� + �) = �(�). 

��	�����	��	��	��á����	���	�����������	�	��	���í���	��	�����	�����.	 

��	�����	��	"c"		��	�����	��������������	�		�������������	��	��	��á����	���������������	.	 

��		� > 0		��	��á����		��	�	��	��������		�		��������	�	��	���������	���	������.		��		�	 < 0			 

	��������	��	�������������	��	ℎ����	��	�����ℎ�. 

 

����������. 

 

1.−	��						� = 	 sen(�) 

�. −����������	��	��������,			��	���í���	�	��		�������	��	�. 

��. −������		��	�������	����	���	��	�����ó�	�������	������. ��	����	����	�������	��	�����. 

���. −������	��	�����ó�	�������	���. 

��.−��������	��	��	�����	�������	��	�����������	���	���������		�		�		���. 

������ó�	�:				� = 	 sen(�) ⇒		

⎩
⎨

⎧
����	� = 1	��������		

��������				|�| = |1| = 1

���í���	��	�:		� =
2�

‖1‖
	,			� = 2�,			

�������	��	�:		� = 0	,			

� 

��	����	�������	��	�����		��������������	��������	��		������.			 

 



Problemas resueltos  Amplitud, período, desfase, dominio y rango  

42 
 

������ó�	��:				 sen(�) 	= −1		 ⇒ 		� = −	
�

2
		,				sen(�) = 1		 ⇒ 			x =

�

2
 

	����	���	���	������	����	���			���	� = 	 �−	
�

2
	,			

�

2
� ,							����	� = 		 [−1,			1] 

������ó�	��� ∶ 			� = sen(�) 			⇒ 	 arcsen� =arcsen[sen(�)] 				⇒ 	arcsen(�) = 	� 

			�����,			��	�������	��		� = sen(�) 			��		� = arcsen(�) 

������ó�	��:						��á����	��	� = sen(�)			�			� = arcsen(�)		��	��	�����	�������	 

��	�����������. 

��á����	��	�		�		��� 

 

2.−	Si		�(�) = cos(�) 

�. −����������	��	��������, ��	���í���	�	��	�������	��	�. 

��. −������		��	�������	����	���	��	�����ó�	�������	������. ��	����	����	�������	��	�������. 

���. −������	��	�����ó�	�������	���. 

��.−��������	��	��	�����	�������	��	�����������	���	���������		�		�		���. 

������ó�	�: �(�) = cos(�) 			⇒ 				�

��������		|�| = |1| = 1

���í���	��	�:		� =
2�

�
	 , � =

2�

1
,			� = 2�

�������	��	�:		� = 0	,			

� 

��	����	���	������	��	�����	��������������	��������	��		������	. 

������ó�	��:		 cos(�) = −1		 ⇒ 		� = �		,					 cos(�) = 1		 ⇒ 		� = 0				 

			����	���	���	������	����	���			���	� = 	 [0,			�	],							����	� = 		 [−1,			1] 

��í	���	���	��� = 	 [−1,			1]				�			����	��� = 		 [0,			�] 
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������ó�	���:		 

� = cos(�) 			⇒ 			 arccos(�) = arccos[���(�)] 

arccos(�) =�				 ⇒ 									� = arccos(�) 

��í	���	��	�������	��		� = cos(�)					��					� = arccos(�) 

������ó�	��:				��á����	��	� = cos(�)			�			� = arccos(�)	��	��	�����		 

�������	��	�����������. 

��á����	��	�		�		��� 

 

		3.−	Si		�(�) = cos(� +
�

2
) 

�. −����������	��	��������, ��	���í���	�	��	�������	��	�. 

��. −������		��	�������	����	���	��	�����ó�	�������	������. ��	����	����	�������	��	�������. 

���. −������	��	�����ó�	�������	���. 

��.−��������	��	��	�����	�������	��	�����������	���	���������		�		�		���. 

������ó�	�: 

⎩
⎪
⎨

⎪
⎧

��������		|�| = |1| = 1

���í���	��	�:		� =
2�

�
	 , � =

2�

1
,			� = 2�

�������	��	�:		� +
�

2
= 0	,			� = −	

�

2

� 

��	����	���	������	���á	����������	 −	
�

2
		ℎ����	��	���������	���	������	. 

������ó�	��:		 cos(� +
�

2
) = −1		 ⇒ 		� +

�

2
= �				 ⇒ 			� = 		

�

2
 



Problemas resueltos  Amplitud, período, desfase, dominio y rango  

44 
 

cos(� +
�

2
) = 1		 ⇒ 		� +

�

2
= 0				 ⇒ 			� = −

�

2
 

����	���	���	������	����	���			���	� = 	 �−
�

2
,			
�

2
� ,							����	� = 		 [−1,			1] 

��í	���	���	��� = 	 [−1,			1]				�			����	��� = 		 �−
�

2
,			
�

2
� 

������ó�	���:		 

� = cos(� +
�

2
) 			⇒ 			 arccos(�) = arccos �cos �� +

�

2
�� 

arccos(�) =� +
�

2
				⇒ 				 arccos(�) −

�

2
= �				 ⇒ 					� = arccos(�) −

�

2
 

��í	���	��	�������	��		� = cos(� +
�

2
)					��					� = arccos(�) −

�

2
 

 

������ó�	��:			��á����	��	�(�) = cos �� +
�

2
� 			�			���(x) = arccos(�) −

�

2
					��	��	�����		 

�������	��	�����������. 

 

��á����	��	�		�		��� 

 

 

4.−	��						� = 	 sen�
��

4
− �� 

�. −����������	��	��������,			��	���í���	�	��		�������	��	�. 

��. −������		��	�������	����	���	��	�����ó�	�������	������. ��	����	����	�������	��	�����. 
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���. −������	��	�����ó�	�������	���. 

��.−��������	��	��	�����	�������	��	�����������	���	���������		�		�		���. 

������ó�	�:		� = 	 sen�
��

4
− �� 		⇒ 			� = 	 sen �

�

4
� − �� 

 

⎩
⎪
⎨

⎪
⎧

��������				|�| = |1| = 1

���í���	��	�:		� =
2�

�
	,			� =

2�
�

�

,			� = 8

�������	��	�:		
π

4
� − π = 0	,			

π

4
� = π, � = 4

� 

 

��	����	�������	����	����������	4	��������	ℎ����	��	�����ℎ�	���	������.			 

 

������ó�	��:	 	sen �
π

4
� − π� 	= −1		 ⇒ 		

π

4
� − π = −	

�

2
			⇒ 			� = 2	 

sen �
π

4
� − π� = 1		 ⇒ 			

π

4
� − π =

�

2
				⇒ 			� = 6 

����	���	���	������	����	���			���	� = 	 [2,			6],							����	� = 		 [−1,			1] 

������ó�	��� ∶ 

� = sin �
�

4
� − �� 			⇒ 	 arcsen� =arcsen	 �sen �

π

4
� − π�� 				⇒ 	 arcsen(�) = 	

�

4
� − 	� 

4	arcsen(�) + 4� = ��			 ⇒ 				� =
4

�
arcsen(�) + 4 

Luego,			la	inversa	de		� = sen �
�

4
� − �� 			��		� =

4

�
arcsen(�) + 4 

 

������ó�	��:		��á����	��	�(�) = sen �
��

4
− �� 			�			���(�) =

4

�
arcsen(�) + 4 					��	��	�����		 

�������	��	�����������. 
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��á����	��		�		�		��� 

 

 

 

5.−	����	��	�����ó�				� = tan(2� +
�

3
) 

�. −����������	��	��������,			��	���í���	�	��		�������	��	�. 

��. −������		��	�������	����	���	��	�����ó�	�������	������. ��	����	����	�������	��	�����. 

���. −������	��	�����ó�	�������	���. 

��.−��������	��	��	�����	�������	��	�����������	���	���������		�		�		���. 

 

������ó�	�:		����			� = 	 tan(2� +
�

3
) 

⎩
⎪
⎨

⎪
⎧

��������				|�| = ∞

���í���	��	�:		� =
�

�
	,			� =

�

2

�������	��	�:		2� +
�

3
= 0	,			2x = −

�

3
		⇒ 		� = −

�

6

� 

��			��á����	��		tan(�)		���á		����������	� = −
�

6
	��������	ℎ����	��	���������	���	������. 

������ó�		��: −������		��	�������	��		�		����	���			���		�������	������. 

tan(2� +
�

3
) = 	 tan(

�

2
) = 	∞			 ⇒ 	2� +

�

3
= 	

�

2
			⇒ 			� =

�

12
 

tan(2� +
�

3
) = 	 tan �−

�

2
� = 	∞			 ⇒ 	2� +

�

3
= −	

�

2
			⇒ 			� = −

5�

12
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���	� = 	�−
5�

12
,
�

12
� 						����	� = 		 (−∞,∞) 

������ó�	���:		� = tan(2� +
�

3
) 			⇒ 			 arctan� = arctan	 �tan�2� +

�

3
�� 

arctan� = 2� +
�

3
			⇒ 				 arctan � −

�

3
= 2�			 ⇒ 			

1

2
arctan� −

�

6
= � 

Así,			la	inversa	de			� = tan(2x +
π

3
) 				��			� =

1

2
arctan� −

�

6
 

���	��� =	 (−∞,∞),						����	��� = 	 �−
5�

12
,
�

12
� 

 

������ó�	��:		��á����	��	�(�) = 	 tan �2� +
�

3
� 		�			���(�) = 	

1

2
arctan� −

�

6
		. 

��á����	��		�		�		��� 

 

 

		6.−	Si				� =
3

4
+ sen �

3�

2
−	

�

6
� 

�. −����������	��	��������,			��	���í���	�	��		�������	��	�. 

��. −������		��	�������	����	���	��	�����ó�	�������	������. ��	����	����	�������	��	�����. 

���. −������	��	�����ó�	�������	���. 

��.−��������	��	��	�����	�������	��	�����������	���	���������		�		�		���. 
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������ó�	� ∶ ��		Si				� =
3

4
+ sen �

3�

2
−	

�

6
� 

⎩
⎪
⎨

⎪
⎧

��������				|�| = |1| = 1

���í���	��	�:		� =
2�
�

�

	,			� =
4�

3
.

�������	��	�:		
3�

2
−	

�

6
= 0	,			

3

2
� =

π

6
,				� =

π

9

� 

��			��á����	��		�		���á		����������	� =
�

9
	��������	ℎ����	��	�����ℎ�		���	������ 

������ó�	��:	 − ������		��	�������	��	�	����		���		���		������. 

3

4
+ sen �

3�

2
−	

�

6
� = 	

3

4
− 1			 ⇒ 		

3

4
+ sen �

3�

2
−	

�

6
� = −	

1

4
 

sen �
3�

2
−	

�

6
� = sen�−

π

2
� 

3�

2
−	

�

6
= 	−

π

2
					⇒ 			

3�

2
	= 	−

π

2
+
�

6
				⇒ 			

3�

2
= 	−

2π

6
				⇒ 				� = 	−

2π

9
 

3

4
+ sen �

3�

2
−	

�

6
� =	

3

4
+ 1			 ⇒ 		

3

4
+ sen �

3�

2
−	

�

6
� = 	

7

4
 

sen �
3�

2
−	

�

6
� = sen�

π

2
� 

3�

2
−	

�

6
=	

π

2
					⇒ 			

3�

2
	= 	

π

2
+
�

6
				⇒ 			

3�

2
= 	

4π

6
				⇒ 				� = 	

4π

9
 

���	� = 	 �−
2π

9
,
4π

9
� 							���� = 	 �−

1

4
,			
7

4
� 

������ó�	���:			������	��	�����ó�	�������	��� 

				� =
3

4
+ sen�

3�

2
−	

�

6
� 			⇒ 	� −	

3

4
= 	 sen �

3�

2
−	

�

6
� 

arcsen�� −	
3

4
� = arcsen �sen�

3�

2
−	

�

6
�� 					⇒ 					arcsen �� −	

3

4
� = 		

3�

2
−	

�

6
 

arcsen �� −
3

4
� +

�

6
=
3

2
� 					⇒ 						

2

3
arcsen �� −

3

4
� +

�

9
= � 

��	�������	��		� =
3

4
+ sen(

3�

2
−
�

6
) 				��						� =

�

9
+
2

3
arcsen(� −

3

4
) 

���	��� = 	 �−
1

4
,			
7

4
� 		,				����	��� = 	 �−

2π

9
,
4π

9
� 



Problemas resueltos  Amplitud, período, desfase, dominio y rango  

49 
 

������ó�	��:					�(�) = � =
3

4
+ sen�

3�

2
−	

�

6
� 					�				���(�) =

�

9
+
2

3
arcsen(� −

3

4
) 

 

		��á����	��		�		�		��		��� 

 

7.−	����	��		�����ó�		� − 3 = ��� �2� −
�

3
� 

�. −����������	��	��������,			��	���í���	�	��		�������	��	�. 

��. −������		��	�������	����	���	��	�����ó�	�������	������. ��	����	����	�������	��	�����. 

���. −������	��	�����ó�	�������	���. 

��.−��������	��	��	�����	�������	��	�����������	���	���������		�		�		���. 

������ó�	�:	� − 3 = cos �2� −
�

3
� 			⇒ 			� = 3 + cos �2� −

�

3
� 

⎩
⎪
⎨

⎪
⎧

��������				|�| = |1| = 1

���í���	��	�:		� =
2�

2
	,			� = �.

�������	��	�:		2� −
�

3
= 0	,			2x =

π

3
,				x =

π

6

� 

��	����	���	������	���á	����������	� =
�

6
			��������		ℎ����	��	�����ℎ�	���	������. 

 

������ó�	��. −������		��	�������	��	�		����	���		���		������. 

3 + cos �2� −
�

3
� = 3 − 1 = 2 

cos �2� −
�

3
� = cos(�) 			⇒ 		2� −

�

3
= �		 ⇒ 					� =

4�

6
	,			� = 	

2�

3
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3 + cos �2� −
�

3
� = 3 + 1 = 4 

cos �2� −
�

3
� = cos(0) 			⇒ 		2� −

�

3
= 0		 ⇒ 					2� =

�

3
	,			� = 	

�

6
 

���		� = 	 �
�

6
,
2�

3
� 					����	� = 	 [2, 4] 

������ó�	���. −������	��	�����ó�	�������	���. 

� − 3 = cos �2� −
�

3
� 			⇒ 			 arccos(� − 3) = arccos �cos �2� −

�

3
�� 

arccos(� − 3) = 	2� −
�

3
						⇒ 				

�

3
+ arccos(� − 3) = 2� 

�

6
+
1

2
arccos(� − 3) = �	 

��	�������	��				� − 3 = cos �2� −
�

3
� 				��		� =

�

6
+
1

2
arccos(x − 3) 

���		��� = 	 [2, 4]			,			����		��� = 	 �
�

6
,
2�

3
� 

������ó�	��:	��������	��	��	�����	�������	��	�����������	� − 3 = cos �2� −
�

3
� 

� =
�

6
+
1

2
arccos(� − 3). 

��á����	��		�		�		��		��� 
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8.−	����		��	�����ó�			� = 1 + sen �
��

3
� 

�. −����������	��	��������,			��	���í���	�	��		�������	��	�. 

��. −������		��	�������	����	���	��	�����ó�	�������	������. ��	����	����	�������	��	�����. 

���. −������	��	�����ó�	�������	���. 

��.−��������	��	��	�����	�������	��	�����������	���	���������		�		�		���. 

 

������ó�	�:		� = 1 + sen�
��

3
� 

⎩
⎪
⎨

⎪
⎧

��������				|�| = |1| = 1

���í���	��	�:		� =
2�
�

�

	,			� = 6.

�������	��	�:		� = 0

� 

��	����	��			� = 1 + sen�
��

3
� 			��		���á	����������	��������	���	������. 

 

������ó�	��. −������		��	�������	����	���	��	�����ó�	�������	������. 

 

1 + sen�
��

3
� = 1 − 1 = 0 

sen �
��

3
� = sen�−

�

2
� 			⇒ 		

��

3
= −

�

2
				� = −

3

2
 

1 + sen�
��

3
� = 1 + 1 = 2 

sen�
��

3
� = sen �

�

2
� 			⇒ 		

��

3
=
�

2
				� =

3

2
 

���		� = 	 �−
3

2
,
3

2
� 		,					����	� = 		 [0,2] 

 

������ó�		���. −������	��	�����ó�	�������	���. 

� = 1 + sen�
��

3
� 		⇒ 			� − 1 = sen �

��

3
� 				⇒ 		arcsen(� − 1) = arcsen �sen(

��

3
)� 
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arcsen(� − 1) =
��

3
				⇒ 			

3

�
arcsen(� − 1) = � 

Así	que	la	inversa	de			� = 1 + sen �
��

3
� es			� =

3

�
arcsen(� − 1) 

���	��� = 	 [0,2]		,				����		� = 	 �−
3

2
,
3

2
� 

������ó�		�� ∶	 

��á����	��		�		�		��		��� 

 

9.−	����		��	�����ó�		� = 2 + 3cos �
��

2
− �� 

�. −����������	��	��������,			��	���í���	�	��		�������	��	�. 

��. −������		��	�������	����	���	��	�����ó�	�������	������. ��	����	����	�������	��	�����. 

���. −������	��	�����ó�	�������	���. 

��.−��������	��	��	�����	�������	��	�����������	���	���������		�		�		���. 

������ó�	� ∶ 		� = 2 + 3cos �
��

2
− �� 		⇒ 		

⎩
⎪
⎨

⎪
⎧

��������				|�| = |3| = 3

���í���	��	�:		� =
2�
�

�

	,			� = 4.

�������	��	�:		
��

2
− � = 0		 ⇒ 		� = 2

� 

	��	����	������	����	����������	2	��������	ℎ����	��	�����ℎ�	���	������ 

������ó�	�� ∶ 	�������	����	���	��	�����ó�	�������	������. 

 

2 + 3cos �
��

2
− �� = 2 − 3	 ⇒ 			2 + cos �

��

2
− �� = −1			 
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3cos �
��

2
− �� = −3	 ⇒ 			cos �

��

2
− �� = −1		 ⇒ 		cos �

��

2
− �� = cos(�) 

��

2
− � = 	�		 ⇒ 	

��

2
= 2�				 ⇒ 		� = 4						 

2 + 3cos �
��

2
− �� = 2 + 3	 ⇒ 			2 + cos �

��

2
− �� = 5 

3cos �
��

2
− �� = 3	 ⇒ 		cos �

��

2
− �� = 1		 ⇒ 	cos �

��

2
− �� = cos	(0)		 

��

2
− � = 0		 ⇒ 	

�

2
= 1		 ⇒ 		� = 2		 

���	� = [2,4]	,			����	� = 		 [−1, 5] 

������ó�	���. −������	��	�����ó�	�������	���. 

� = 2 + 3cos �
��

2
− �� 		⇒ 		� − 2 = 3cos �

��

2
− �� 		⇒ 		

1

3
(� − 2) = 	cos�

��

2
− �� 

arccos
1

3
(� − 2) = 	

��

2
− �		 ⇒ 		arccos

1

3
(� − 2) + � =	

��

2
 

2

�
arccos

1

3
(� − 2) + 2 = �							 

��í,			��	�������	��			�(�) = 2 + 3cos �
��

2
− �� 		��			���(�) = 	

2

�
arccos

1

3
(� − 2) + 2			 

���	��� = 		 [−1, 5]	,					����	���(�) 	= [2,4] 

������ó�			��:		��á����		��			�(�) = 2 + 3cos�
��

2
− �� 		�			���(�) = 	

2

�
arccos

1

3
(� − 2) + 2			 

��á����	��		�			�			��� 
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10.−	Dada	la	función			� = 1 + 3 tan	 �
� + �

6
� 

�. −����������	��	��������,			��	���í���	�	��		�������	��	�. 

��. −������		��	�������	����	���	��	�����ó�	�������	������. ��	����	����	�������	��	�����. 

���. −������	��	�����ó�	�������	���. 

��.−��������	��	��	�����	�������	��	�����������	���	���������		�		�		���. 

 

������ó�	� ∶ 		� = 1 + 3 tan	 �
� + �

6
� 		⇒ 		

⎩
⎪
⎨

⎪
⎧

��������			 ∶ 		∞

���í���	��	�:		� =
�

6
	. � = 6�			

�������	��	�:		
� + �

6
= 0		 ⇒ 		� = −�

� 

	��	����	��������	����	���������� − �		��������	ℎ����	��	���������	���	������. 

������ó�	��. −������		��	�������	����	���	��	�����ó�	�������	������. 

1 + 3 tan �
� + �

6
� = 1 + 3tan �

�

2
� = ∞			 ⇒ 		3 tan �

� + �

6
� = 	3tan �

�

2
� 

� + �

6
= 	

�

2
			⇒ 		

�

6
= 	

�

2
−	

�

6
	⇒ 			

�

6
= 	

2�

6
			� = 2�		 

1 + 3 tan	 �
� + �

6
� = 1 + 3tan �−

�

2
� = −∞			 ⇒ 		3 tan	 �

� + �

6
� = 	3tan�−

�

2
� 

� + �

6
	= 	−

�

2
			⇒ 		� + � = −3�			 ⇒ 		� = 	−4�	 

���	� = 	 (−4�, 2�)	,					����	� = 	 (−∞,∞) 

������ó�:			���. −������	��	�����ó�	�������	���. 

� = 1 + 3 tan �
� + �

6
� 				⇒ 				y − 1 = 3 tan �

� + �

6
� 					⇒ 					

1

3
(� − 1) = tan �

� + �

6
� 

arctan
1

3
(� − 1) = artan �tan �

� + �

6
�� 		⇒ 			arctan

1

3
(� − 1) = 	

� + �

6
 

6 arctan
1

3
(� − 1) = � + �				 ⇒ 			6 arctan

1

3
(� − 1) − � = � 

��	�������	��		� = 1 + 3 tan(
� + �

6
) 			��				� = 6 arctan

1

3
(� − 1) − � 
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��.−��������	��	��	�����	�������	��	�����������	���	���������	� = 1 + 3tan �
� + �

6
� 

				�							� = 6 arctan
1

3
(� − 1) − � 

 

��á����	��		�			�			��� 
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������	��	��������Ó� 

� = �	(���������) 			⇒ 	
��

��
= 0			��	��������	��	���	���������	��	�����	�	����. 

� = �		 ⇒ 		
��

��
= 1			��	��������	��	��	��������	�������������	��	�����	�	���. 

� = � ∙ �		 ⇒ 		
��

��
	= �

��

��
				��	��������	���	��������	��	���	���������	���	���	 

�����ó�	��	�����	��	��������	��	��	���������	���	��	��������	��	��	�����ó�. 

� = � + � + �			 ⇒ 			
��

��
=
��

��
+
��

��
+
��

��
			��	��������		��	���	����	��	���������	��	�����	 

�	��	����	��	���	���������	��	���	���������.	 

� = � ∙ �			 ⇒ 			
��

��
= �

��

��
+ �

��

��
	,					��������	��	��	��������	��	���������. 

� =
�

�
									⇒ 			

��

��
=	

�
��

��
− �

��

��

��
		,				��������	��	��	��������	��	���������. 

� = �� 							⇒ 			
��

��
= �����

��

��
 � = �� 								⇒ 			

��

��
= ����� 

  

� = ln � 					⇒ 		
��

��
=
1

�

��

��
 

� = log�			 ⇒ 		
��

��
=
log	(�)

�

��

��
 

� = ln 	� 					⇒ 		
��

��
=
1

�
 

� = ���	�			 ⇒ 		
��

��
=
log	(�)

�
 

  

� = 	�� 							⇒ 		
��

��
= ��

��

��
 	� = 	 �� 						⇒ 			

��

��
= �� 

  

� = 	�� 							⇒ 		
��

��
= ��ln	(�)

��

��
 � = 	�� 							⇒ 			

��

��
= ��ln	(�) 

  

� = 	√� 							⇒ 		
��

��
=

1

2√�

��

��
 � = 	√� 						⇒ 		

��

��
=

1

2√�
 

 

���������	��	���������	��������é������ 

� = sen � 	⇒ 		
��

��
= 					 cos �

��

��
 � = sen � 	⇒ 		

��

��
= 				 cos � 

  

� = cos � 	⇒ 		
��

��
=	− sen�

��

��
 � = cos � 	⇒ 		

��

��
= −sen� 

  

� = tan� 		⇒ 		
��

��
= 			 sec� �

��

��
 � = tan� 	⇒ 		

��

��
= 			 sec� � 
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� = cot � 		⇒ 		
��

��
= −csc� �

��

��
 � = cot � 	⇒ 		

��

��
= −csc� � 

� = sec � 									⇒ 			
��

��
		= 			 sec � tan�

��

��
 � = sec � 										⇒ 		

��

��
		= 	 sec � tan � � 

  

� = csc � 									⇒ 			
��

��
		= − csc � cot �

��

��
 � = csc � 										⇒ 			

��

��
		= 	− csc � cot � 

  

� = arcsen	�		 ⇒ 		
��

��
		= 									

1

√1 − ��

��

��
 � = arcsen	�		 ⇒ 		

��

��
		= 				

1

√1 − ��
 

  

� = arccos� 		⇒ 		
��

��
		= 					−

1

√1 − ��

��

��
 � = arccos � 		⇒ 		

��

��
			= −

1

√1 − ��
 

  

� = arctan� 		⇒ 		
��

��
		= 												

1

1 + ��
��

��
 � = arctan � 		⇒ 		

��

��
			= 							

1

1 + ��
 

  

� = arccot � 		⇒ 		
��

��
		= 								−

1

1 + ��
��

��
 � = arccot � 		⇒ 		

��

��
			= 			−

1

1 + ��
 

  

� = arcsec � 	⇒ 		
��

��
		= 						

1

�√�� − 1

��

��
 � = arcsec � 		⇒ 		

��

��
			= 				

1

�√�� − 1
 

  

� = arccsc � 		⇒ 		
��

��
		= 		−

1

�√�� − 1

��

��
 � = arccsc � 		⇒ 		

��

��
			= 	−

1

�√�� − 1
 

 

��������	��	���������	����í����� 

��	���ℎ��	���������	��	���������,			��	������ó�	�����	���	���������			�, �		��	��	��������		 

����		�,			���	��	�����	��	��������		�		��	�����	�����ó�	����í����	��	�.	 

���	�������,			3�� − 7� = 0		��	���	������ó�	����í����	��	�.		��	��������	��	������ó�,			��		 

�������	� =
3

7
��	�����	�	��	�����ó�	����í����	��	�.		�ℎ���	��	�������	�	�������	����	 

ú�����	�����ó�,			��	���	�����	��	����. 

����	������	��	��	�����	��������	��	������ó�	����		"�"		��	�����	����í����,			��	������	 

��	������ó�	����	�é�����	�	�é�����,			������������	�		"�"		����	�����ó�	��	�.		��	��	������ó�		 

����������	��	�������	
��

��
	. 

���	�������,			��		�� + �� = ���		��	��	�������	��������		�		����	�����ó�	����í����	��	�. 

��í	���			�� + �� = ��� 		⇒ 			2� + � + �
��

��
= 	�� + 3���

��

��
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	2� + � − �� = 	3���
��

��
− 	�

��

��
			⇒ 				2� + � − �� =

��

��
(3��� − 	�) 		⇒ 		

��

��
=
	2� + � − ��

3��� − 	�
 

�����	��	��	������	 

��	� = �(�)			�			� = ℎ(�),			��	����	���		y	��	�����ó�	��		�		���	����������	��	�.	 

�ℎ���,			��		��		� = �(�)		��	���������		�		���		ℎ(�)		��	�����		� = ��ℎ(�)�		���	��	�����	 

�����ó�	���������	��	�		�		ℎ		,			�����é�	����������		�����ó�	��	�����ó�. 

������		� = 		��ℎ(�)�		��������			
��

��
= �′�ℎ(�)�ℎ′(�) 

��			� = � ���ℎ(�)�� 		��������			
��

��
= �′ ���ℎ(�)���′�ℎ(�)�ℎ′(�) 

�������:		������	��	��������	��	� = sen�√��. 

����	�����ó�	�����	����������	��	��	�����		� = 	��ℎ(�)�		�����		��ℎ(�)� = 	sen�ℎ(�)� 

�		ℎ(�) = √�	.		���í			���ℎ(�)� = cos�ℎ(�)�		�				ℎ�(�) =
1

2√�
 

���	��	�����	
��

��
= ���ℎ(�)�ℎ�(�) 		⇒ 			

��

��
= 	cos�√��

1

2√�
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DERIVAR Y SIMPLIFICAR LAS SIGUIENTES FUNCIONES 

 

1.−	�������	�	�����������			� = sen �3� +
�

2
�. 

������ó�:			� = sen� 	⇒ 		
��

��
= 	 cos �

��

��
,			���í			� = 	3� +

�

2
			�			�� = 3 

��������					� = sen �3� +
�

2
� 							⇒ 					 �� = cos �3� +

�

2
� (3) 

�� 	= 3 cos(3� +
�

2
) 

 

	2. −�������	�	�����������				� = (3�� − 1)� 

������ó�:		��	��	ℎ���	��	�����	��	��������			� = 3�� − 1			�				�′ = 6� 

��	�����á				� = ��			�			���	�����					�� = 2���,				 

��������			� = (3�� − 1)� 				⇒ 		 �� = 2(3�� − 1)6� = 12�(3�� − 1) 

 

3.−	�������	�	�����������				� = ��. �� 

������ó�:		��������	��	��	��������:		� = � ∙ �		 ⇒ 		�� = ��� + ��′ 

��			� = ��		�			� = ��,			��������			� = ���� 		→ 		 �� = 2��� + ��. �� 		→ 		�� = ���(2 + �) 

 

4.−�������	�	����������r					� = 4�� − 3� 

������ó�:				��������	��	���	����:		� = � + �		 ⇒ 		
��

��
=
��

��
+
��

��
 

���í		�� = 12�			�			�� = −3,				�����			� = 4�� − 3�		 ⇒ 		�� = 12�� − 3 = 3(4�� − 1) 

 

5.−�������	�	�����������			� = ln(� + ��) 

������ó�:			� = ln� 		⇒ 		
��

��
=
1

�

��

��
, ����		� = � + ��	,			�� = 1 + �� 

����		� = ln(�) 	⇒ 		�� =
1

�
∙ ��	,			��������			� = ln(� + ��) 				⇒ 		�� = 	

1

� + ��
∙ (1 + ��) 



Problemas resueltos  Derivación y simplificación de funciones  

60 
 

		6.−�������	�	�����������			� = ln(��. ��) 

������ó�:		� = ln� 		⇒ 		
��

��
=
1

�

��

��
, �����		� = ����		�			�� = 2��� + ���� 

��í	���	� = ln � ⇒ 		�� =
1

�
∙ ��,				�����		� = ln(����) 		⇒ 				 �� =

1

����
	 ∙ (2��� + ����) 

�� =
���(2 + �)

����
		→ 		�� =

2 + �

�
 

 

	7.−�������	�	�����������		� = �1 − 6��
�

 

������ó�:	� = �1 − 6��
�

		⇒ 		� = (1 − 6��)
�

�		,			�����		� = 1 − 6��			�			�� = 30�� 

�����	� = (1 − 6��)
�

� 		⇒ 		� = �
�

� 			⇒ 		�� =
1

3
��

�

� ∙ �� 			⇒ 		�� =
1

3
(1 − 6��)�

�

�(30��) 

�� =
30��

3�(1 − 6��)�
�

						⇒ 					 �� =
10��

�(1 − 6��)�
�

 

 

	8.−�������	�	�����������			� =
�

�
+
�

�
 

������ó�:		� =
�

�
+
�

�
					⇒ 					� = ���� +

�

�
					⇒ 					�� = −���� +

1

�
 

�� = −
�

��
+
1

�
					⇒ 			 �� =

−�� + ��

���
=
�� − ��

���
 

 

9.−�������	�	�����������				2�� − 3�� + 4�� = √3 

������ó�:			2�� − 3�� + 4�� = √3		⇒ 		4� − 3(�) − 3��� + 8��� = 0		 

		8��� − 3��� = 3� − 4�		 ⇒ 		��(8� − 3�) = 3� − 4�	 ⇒ 		�� =
3� − 4�

8� − 3�
 

 

10.−�������	�	�����������			�� = 	
� − �

� + �
 

������ó�:		�� =
� − �

� + �
		→ 		��(� + �) = � − �			 
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4��(� + �) + ��(1 + ��) = 1 − �� 

4��(� + �) + �� + ���� = 1 − �� 

→		���� + �� = 1 − 4��(� + �) − �� 			→ 		�� =
1 − 4��(� + �) − ��

�� + 1
 

 

11.−�������	�	�����������				��� − �� = 1 − 3�� 

������ó�:		��� − �� = 1 − 3�� 		→ 		2�� + ���� − � − ��� = −6� 

���� − ��� = −6� − 2�� + � 

��(�� − �) = −(6� + 2�� − �) 	⇒ 		 �� = −
(6� + 2�� − �)

�(� − 1)
 

 

12.−�������	�	�����������			� = √sen� 

������ó�:		� = √sen	� 		→ 		�� =
cos�

2√sen	�
 

�� =
√sen	� cos �

2sen	�
		→ 		�� =

1

2
√sen	�cot	� 

 

13.−�������	�	�����������				� = 2 sen(3�) cos(3�) 

	������ó�: ����������	���		 sen(2�) = 2 sen� cos � 

� = 2 sen(3�) cos(3�) 			⇒ 				� = sen(6�) 	⇒ 			 �� = 6 cos(6�) 

 

14.−�������	�	�����������		��cos�(4�) = �� − �� 

������ó�:	 

��cos�(4�) = �� − �� 		⇒ 		 (2�)cos�(4�) + 3��[3cos�(4�)(−4 sen(4�))] = 3�� − 3���� 

		2�cos�(4�) − 12��cos�(4�) sen(4�) − 3�� + 3���� = 0 

�� =
12�� cos�(4�) sen(4�) − 2�cos�(4�) + 3��

3��
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15.−Derivar	y	simpli�icar		� = sen �cos���� 

������ó�:					� = 	 sen �cos���� 			⇒ 			 �� = cos �cos���� �− sen����
3��

2√��
 

�� = −
3�� cos(cos√��)sen√��

2√��
		⇒ 		�� = −

3�� cos(cos√��)sen√��

2�√�
 

�� = −
3� cos(cos√��)sen√��

2√�
 

 

16.−�������	�	�����������			� = sec��	tan�� 

������ó�: ����������	���			tan�� = sec�� − 1 

� = sec��	tan��		 ⇒ 		� = sec��[sec�� − 1] 		⇒ 		� = sec�� − sec��	 

�′ = 4sec�� sec � tan � − 2 sec �	. sec� tan �		 ⇒ 		 �� = 2	sec�� tan �[2sec�� − 1] 

 

17.−�������	�	�����������		� =
�� + 1

√1 − ��
 

������ó�:		� =
�� + 1

√1 − ��
		→ 		 �� =

√1 − ��(2�) − (�� + 1).
(���)

�√����

1 − ��
 

�� =
2�√1 − �� +

�(����)

√����

1 − ��
		⇒ 		�� =

2�(1 − ��) + �(�� + 1)

(1 − ��)√1 − ��
 

�′ =
2� − 2�� + �� + �

(1 − ��)√1 − ��
=

3� − ��

(1 − ��)√1 − ��
 

 

18.−�������	�	�����������			 sec(��) = �� 

Solución:		 sec(��) = ��		 → 	 sec(��) tan(��)[� + �′�] = � + ��� 

��(� sec(��) tan(��) − �) = � − � sec(��) tan(��) 

� sec(��) tan(��) + ��� sec(��) tan(��) − � − ��� = 0 

�� =
�(1 − sec(��) tan(��))

�(sec(��) tan(��) − 1)
= −

�

�
.
sec(��) tan(��) − 1

sec(��) tan(��) − 1
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19.−�������	�	�����������			� = (2�� − 1)���� − 3
�

 

������ó�:	 

� = (2�� − 1)���� − 3
�

	→ 		 �� = 2(2�� − 1)(6��)��� − 3
�

+
(2�� − 1)�(2�)

4�(�� − 3)�
�

 

�′ = �(2�� − 1) �
24�(�� − 3) + 2�� − 1

2√�� − 3
� � 

�� = �(2�� − 1) �
24�� − 72� + 2�� − 1

2�(�� − 3)�
�

� 		⇒ 		�� = �(2�� − 1) �
26�� − 72� − 1

2�(�� − 3)�
�

� 

 

20.−�������	�	�����������			�� cos � = �� sen(��) 

������ó�:				�� cos � = �� sen(��) 	→ 	2��� cos � − �� sen� = �� cos(��)�		 

→ 	2��� cos� = ��� cos(��) + �� sen �		 

→		�� =
��� cos(��) + �� sen�

2� cos �
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DERIVADAS DE FUNCIONES TRASCENDENTES 

�������	�	�����������	���	���������	��� 
��	��������	�	����������ó�. 

 

1.−	�������	�	�����������		� = sen	(7� −
�

2
) 

������ó�:		� = sen�7� −
�

2
� 	⇒ 		�� = cos �7� −

�

2
�
�

��
	(7� −

�

2
) 

�� = cos �7� −
�

2
�	(7) 			⇒ 		 �� = 7cos	 �7� −

�

2
� 

 

2.−	�������	�	�����������		� = ��. ��
�
 

������ó�:		� = ��. ��
�
		⇒ 		 �� =

�

��
(��). ��

�
+ ��.

�

��
���

�
� 	⇒ 		�� = 2�. ��

�
+ ��. ��

�
(2�) 

�� = 2�. ��
�
+ 2��. ��

�
		⇒ 		 �� = 2���

�
(1 + ��) 

 

3.−	�������	�	�����������		� = arcsec(3�� + 2)� 

������ó�:		� = arcsec(3�� + 2)� 		⇒ 		�� =
�(3�� + 2)�

(3�� + 2)��(3�� + 2)�� − 1
 

�� =
5(3�� + 2)�	(6�)

(3�� + 2)��(3�� + 2)�� − 1
			⇒ 			 �� =

30�

(3�� + 2)�(3�� + 2)�� − 1
 

Nota:	recordemos	que	si		� = 	 sec��(�) ,			��������	�� =
�′

�√�� − 1
 

 

4.−	�������	�	�����������		� = log(√� − 1) 

������ó�:		��		� = √� − 1	,				��������			
��

��
=

1

2√�
 

���	�����			� = log(�) 	⇒ �� =
log	(�)

�
∙
��

��
	⇒ 		�′ =

1

(√� − 1)
∙
log	(�)

2√�
	. 

�� =
1

2
∙
log	(�)

(� − √�)
				⇒ 		�� =

log	(e)

2
∙

1

(� − √�)
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5.−�������	�	�����������		� = arcsen(��
�
) 

������ó�:	��		� = ��				��������			
��

��
= 2�	 

	�����		� = arcsen(��) ⇒ �� =
��

�1 − (��)�
∙
��

��
		⇒ 		 �� =

	(��
�
)(2�)

�1 − ���
�
�
�
		⇒ 		 �� =

2���
�

�1 − ���
�
 

 

6.−�������	�	�����������		� = sen	(arccos(� + 1)) 

������ó�: 

� = sen(arccos(� + 1)) 	⇒ 		�� = cos(arccos(� + 1)) .
−1

�1 − (� + 1)�
 

�� =
−(� + 1)

√1 − �� − 2� − 1
⇒ 					�� =

−(� + 1)

√−�� − 2�
= −

(� + 1)

√−�� − 2�
 

 

7.−�������	�	�����������		� = �√� 

������ó�:		��		� = 	√�		��������			
��

��
=

1

2√�
 

��í	���			� = �� 			⇒ 				 �� = �� ∙
��

��
		⇒ 		 �� = �√� ∙

1

2√�
		⇒ 		�� =

1

2
∙
�√�

√�
 

 

8.−	Derivar	y	simpli�icar				� = ln(� + ��) 

������ó�:		� = ln(� + ��) 	⇒ 		�� =
1

� + ��
∙ (1 + ��) 

�� =
1 + ��

� + ��
 

 

9.−	Derivar	y	simpli�icar arctan �
�

�
� + 2��� =

�

�
 

Solución: arctan �
�

�
� + 2��� =

�

�
	→ 		

1
�����

��

	 ∙ 	
� − ��′

��
+ 4�� + 2���� =

��� − �

��
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� − ��′

�� + ��
+ 4�� + 2���� =

��� − �

��
 

��(� − ��′) + (4�� + 2���′)(��)(�� + ��) = (�� + ��)(��� − �) 

��� − ���� + 4��(��)(�� + ��) + 2����(��)(�� + ��) = 	 (�� + ��)��� − �(�� + ��) 	→		 

2����(��)(�� + ��) −	���� − (�� + ��)��� = 	−[�(�� + ��) + 4��(��)(�� + ��) + ���] 	→		 

�� = −
[(� + 4���)(�� + ��) + ���]

[(2�� − �)(��+��) − ��]
= −

�[(1 + 4��)(�� + ��) + ��]

�[(2�� − 1)(�� + ��) − ��]
 

 

10.−�������	�	�����������			� = ln(ln�√��) 

������ó�	�:				� = ln�ln�√��� 		⇒ 		 �� =
1

ln√�
∙
1

√�
∙
1

2√�
 

�� =
1

2�	ln√�
				⇒ 				�′ =

1

�	ln	�
 

������ó�	��:			� = ln�ln�√��� 				⇒ 		� = ln �
1

2
ln(�)� 

�� =
1

0.5	ln	�
∙ 	0.5

1

�
 

�� =
1

�	ln	�
 

 

11.−�������	�	�����������		 arcsen(�. �) = arccos	(� + �) 

Solución:		 arcsen(�. �) = arccos(� + �) 	⇒ 		
� + ��′

�1 − (��)�
=

(−1)(1 + ��)

�1 − (� + �)�
 

�

�1 − (��)�
+

��′

�1 − (��)�
+

1

�1 − (� + �)�
+

�′

�1 − (� + �)�
= 0 

�� �
�

�1 − (��)�
+

1

�1 − (� + ��
� = −

�

�1− (��)�
−

1

�1 − (� + �)�
 

�� �
�.�1 − (� + �� + �1− (��)�

�1 − (��)��1 − (� + ��
� = −

��1 − (� + �)� + �1 − (��)�

�1 − (��)�.�1 − (� + �)�
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�� = −
��1 − (� + �)� + �1 − (��)�

�. �1 − (� + �� + �1 − (��)�
 

 

12.−�������	�	�����������		 arcsen�√�� = arcsec	(��) 

Solución:		 arcsen�√�� = arcsec(��) 		→ 		
1

√1 − �
	.

1

2√�
=

1

���� − 1
	.

��

2��
 

1

2√�√1 − �
=

�′

2��� − 1
 

�� =
��� − 1

√� − ��
		→ 		�� = ��

� − 1

� − ��	
 

 

13.−�������	�	�����������		� = arctan�
1 − cos�

1 + cos�
 

		������ó�:		� = arctan�
1 − cos �

1 + cos �
 

�� =
1

1 +
������

�����	�

	 ∙ 	
1

2�
�����	�

�����	�

∙ 	
sen	�(1 + cos	�) − (−sen	�)(1 − cos	�)

(1 + cos	�)�
 

�� =
1

�����	�������	�

�����	�

∙ 	
1

2�
�����	�

�����	�

∙ 	
sen	� + sen	�	cos	� + sen	� − sen	�	cos	�

(1 + cos	�)�
 

�� = 	
1
�

�����	�

	 ∙ 	
1

2�
(�����	�)�

�������

∙
2 sen �

(1 + cos �)�
 

�� =
1 + cos �

2
∙

1

2
(������)

����

∙
2 sen�

(1 + cos �)�
= 	

1

2
∙

1

1 − cos�
∙

sen��

1 + cos �
= 	

1

2
 

� = arctan�
1 − cos �

1 + cos �
⇒ 		�� = 	

1

2
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14.−	Derivar	y	simpli�icar		� = ��� − 1 + arcsec(��� − 1) 

 

������ó�:		 

� = ��� − 1 + arcsec(��� − 1) 	⇒ 		�� =
2�

2√�� − 1
+

1

√�� − 1�(�� − 1) − 1
	.

2�

2√�� − 1
 

�� =
�

√�� − 1
+

�

(�� − 1)√�� − 2
=
�√�� − 1

�� − 1
+

�

(�� − 1)√�� − 2
 

�� =
�

�� − 1
���� − 1 + � 1

√�� − 2
�� 

 

15.−�������	�	�����������		� =
(ln(�))�

ln �
 

������ó�:		� =
(ln(�))�

ln(�)
		⇒ 		� =

ln(�). ln(�)

ln(�)
 

� = ln(�) 			⇒ 				 �� =
1

�
 

 

16.−Derivar	y	simpli�icar		� =
�

2
��� − �� +

��

2
arcsen�

�

�
� 

������ó�:		 

� =
�

2
��� − �� +

��

2
arcsen�

�

�
� 		⇒ 		�� =

1

2
��� − �� +	

(�)(−2�)

2.2√�� − ��
+	

��

2
∙ 	

1 �
�

�
�

�1 −
��

��

 

y′ =
1

2
���−�� −

��

2√�� − ��
+
�

2
∙

1

�
�����

��

 

y′ =
1

2
��� − �� −

��

2√�� − ��
+
��

2
∙

1

√�� − ��
 

y′ =
(�� − ��) − �� + ��

2√�� − ��
=
�� − �� − �� + ��

2√�� − ��
=
2(�� − ��)

2√�� − ��
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�� =
(�� − ��)√�� − ��

(�� − ��)
= ��� − �� 

 

17.−Derivar	y	simpli�icar		� = ln(��. ��) 

������ó�		1 ∶ 

� = ln(��. ��) 		⇒ 		 �� =
1

��. ��
∙ (2��� + ����) 

�� =
���(2 + �)

��. ��
		⇒ 		�� =

2 + �

�
 

������ó�	2:	 

� = ln(��. ��) 		⇒ 		� = ln �� + ln �� = 2 ln � + � 

�� =
2

�
+ 1		 ⇒ 		�� =

2 + �

�
 

 

18.−�������	�	�����������			� = ln(arctan(���)) 

������ó�:	 

� = ln(arctan(���)) 		→ 		�� =
1

arctan(���)
∙ 	

1

1 + ���
∙ ���. (3) 

�� =
3���

(1 + ���) arctan(���)
 

		19.−�������	�	�����������		� = ln �
1 + sen�

1 − sen�

�

 

												������ó�:		� = ln �
1 + sen�

1 − sen�

�

=
1

5
ln �

1 + sen�

1 − sen�
� 

�′ =
1

5
∙

1
������

������

∙
(1 − sen�) cos� − (1 + sen �)(− cos �)

(1 − sen �)�
 

�′ =
1

5
∙ 	
(1 − sen�)

(1 + sen�)
∙ 	
cos � − sen�	cos	� + cos � + sen�	cos	�

(1 − sen�)�
 

�� =
1

5

2	cos	�

(1 + sen �)(1 − sen�)
=

2	cos	�

5	cos��
=

2

5	cos	�
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20.−	Derivar	y	simpli�icar ln(� + �)� = �� + �� 

Solución:		 ln(� + �)� = �� + �� 				⇒ 				3 ln(� + �) = �� + �� 

3 ∙ 	
1

� + �
∙ (1 + ��) = 2� + 2��� 			⇒ 				3(1 + ��) = 2�(� + �) + 2���(� + �) 

3�� − 2���(� + �) = 2�(� + �) − 3			 ⇒ 		 			���3 − 2�(� + �)� = 2�(� + �) − 3		 

�� =
2�(� + �) − 3

3 − 2�(� + �)
= −

2�(� + �) − 3

2�(� + �) − 3
 

 

21.−	Derivar	y	simpli�icar			 ln(� + �) = ��� + �� 

Solución;		ln(� + �) = ��� + �� 		⇒ 		
1 + �′

� + �
= (� + ���)��� + 2� 

1 + �′

� + �
= ���� + ������ + 2� 

1 + �� = (� + �)���� + (� + �)������ + 2�(� + �) 

�� − ������(� + �) = (� + �)���� + 2�(� + �) − 1 

�� =
�(� + �)��� + 2�(� + �) − 1

1 − ����(� + �)
 

 

22.−�������	�	�����������		� =
�� − ���

�� + ���
 

������ó�:			� =
�� − ���

�� + ���
		⇒ 		�� =

(�� + ���)(�� + ���) − (�� − ���)(�� − ���)

(�� + ���)�
 

�� =
(��� + 2+����) − (��� − 2+����)

(�� + ���)�
 

��� + 2+���� − ��� + 2−����

(�� + ���)�
=

4

(�� + ���)�
 

23.−	Derivar	y	simpli�icar ln(�� + ��) = 2 arctan �
�

�
� 

������ó�:			ln(�� + ��)= 2	arctan �
�

�
� 		⇒ 		

2� + 2��′

�� + ��
= 2	.

1

1 +
��

��

	 .
� − ��′

��
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2� + 2��′

�� + ��
=	

2(� − ���)

�� + ��
			⇒ 		

2� + 2��′

�� + ��
=

2��

�� + ��
∙ 	
� − ��′

��
 

2� + 2��� = 2� − 2��� 	⇒ 		2��� + 2��� = 2� − 2�		 

2��(� + �) = 2(� − �) 			⇒ 		 �� =
� − �

� + �
 

 

24.−�������	�	�����������			 ln(�) = sen� 

������ó�:	 

ln(�) = sen � ⇒ 		
�′

�
= cos �			 ⇒�´ = �	cos	� 

 

25.−�������	�	�����������				� = arcsen(ln �) − ln(arctan�) 

������ó�: 

							� = arcsen(ln �) − ln(arctan �) 			⇒ 				 �� =
1

√1 − ln��
∙ 	
1

�
−	

1

arctan�
∙

1

1 + ��
 

�� =
1

√1 − ln��
∙
1

�
−	

1

arctan�
∙

1

1 + ��
 

�� = 	
1

�√1 − ln��
−

1

(1 + ��) arctan(�)
 

 

26.−	Derivar	y	simpli�icar�1 + ln � = sen�(3� − 1) 

������ó�:	 

�1+ ln � = sen�(3� − 1) 	⇒ 		
1

2�1 + ln�
∙ 	
�′

�
= 2 sen(3� − 1) cos(3� − 1). 3 

�� = 12� sen(3� − 1) cos(3� − 1)�1 + ln � 

 

 

27.−	Derivar	y	simpli�icar		� = ln[(2� + 1)�. (�� − 4)�] 

������ó� ∶ 

� = ln[(2� + 1)� ∙ (�� − 4)�] 			⇒ 			� = 3 ln(2� + 1) + 5 ln(�� − 4) 
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�� = 3 ∙
2

2� + 1
+ 	5 ∙

2�

�� − 4
					⇒ 			�′ =

6

2� + 1
+

10�

�� − 4
 

�� =
6�� − 24 + 20�� + 10�

(2� + 1)(�� − 4)
=
26�� + 10� − 24

(2� + 1)(�� − 4)
 

 

28.−	Derivar	y	simpli�icar		� = sen�(��). cos�(���) 

������ó�:		 

� = sen�(��). cos�(���) 

�� = 3sen�(��) cos(��) ��. cos�(���) + 4cos�(���)(− sen(���)(���)(−1)sen�(��)) 

�� = 3sen�(��)cos�(���)[3 cos(��) cos(���) �� + 4 sen(���) sen(��)���] 

�� = sen�(��)cos�(���)[3�� cos(��) cos(���) + 4��� sen(���) sen(��)] 

 

29.−	Derivar	y	simpli�icar ln��. � + ln�� + � = 4 

		������ó�:			 ln ��. � + ln�� + � = 4		 ⇒ 		
1

2
ln(�. �) +

1

2
ln(� + �) = 4		 

ln(�. �) + ln(� + �) = 8		 ⇒ 					
� + ��′

�. �
+
1 + �′

� + �
= 0				 

(� + ���)(� + �) + (1 + ��)(�. �) = 0		 ⇒ 			�(� + �) + ���(� + �) + �� + ���� = 0 

��[�(� + �) + ��] = −�(� + �) − ��					 

�� = −
�(� + �) + ��

�(� + �) + ��
				⇒ 			 �� = −

2�� + ��

2�� + ��
 

 

30.−	Derivar	y	simpli�icar arcsen[ln(� + �)] = � ∙ � 

������ó�:		 arcsen[ln(� + �)] = ��		 ⇒ 		
1

�1 − ln�(� + �)
∙

1

� + �
∙ (1 + ��) = � + ��� 

1 + �� 	= (� + ���)(� + �)�1 − ln�(� + �) 

1 + �� = �(� + �)�1 − ln�(� + �) + ���(� + �)�1 − ln�(� + �) 

�� − ���(� + �)�1 − ln�(� + �) = �(� + �)�1 − ln�(� + �) − 1 
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��(1 − �(� + �)�1 − ln�(� + �) = �(� + �)�1 − ln�(� + �) − 1 

�� =
�(� + �)�1 − ln�(� + �) − 1

1 − �(� + �)�1 − ln�(� + �)
= 	−

�(� + �)�1 − ln�(� + �) − 1

�(� + �)�1 − ln�(� + �) − 1
 

 

31.−	Derivar	y	simpli�icar		� = 10���. cos � 

������ó�: 

� = 10���. cos�	 ⇒ 			�′ = −10���. cos � − 10���. sen � 

�′	 = −10���(cos � + sen�) 
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���������	������������ 

 

���	���������	ℎ�����ó�����	��	�������	����	��	�������	�	����������ó�: 

 

senh(�) =
�� − ���

2
 cosh(�) =

�� + ���

2
 tanh(�) =

senh(�)

cosh	(�)
 

 

coth(�) =
cosh(�)

senh	(�)
 

 

sech(�) =
1

cosh	(�)
 

 

csch(�) =
1

senh(�)
 

 
 

cosh�� − senh�� = 1 
 

 

cosh(2�) = cosh�� + senh�� 
 

 
senh(2�) = 2	senh	�. cosh	� 

 
 

1 − tanh�� = 	 sech�� 
 

 
coth�� − 1 = 	 csc�� 

 

        

���������	��	���	���������	ℎ�����ó�����: 

 

� = senh(�) 		⇒ 		 �� = cosh	(�) 
 

� = cosh(�) 		⇒ 		�� = senh	(�) 

� = tanh(�) 		⇒ 		�� = 	 sech�(�) 
 

� = coth(�) 		⇒ 		�� = 	−csch�(�) 

� = sech(�) 	⇒ 		�� = −sech(�) tanh(�) � = csch	(�) 	⇒ 		�� = −csch(�) coth	(�) 
 

���������	��	���	���������	ℎ�����ó�����	��������: 

 

� = arcsenh(�) 		⇒ 		
��

��
=

1

√�� + 1

��

��
 

 

� = arccosh(�) 		⇒ 		
��

��
=

1

√�� − 1

��

��
 

� = arctanh(�) 		⇒ 		
��

��
=

1

1 − ��
��

��
 

 

� = arcoth(�) 		⇒ 		
��

��
=

1

1 − ��
��

��
 

� = arcsech(�) 		⇒ 		
��

��
=

1

|�|√1 − ��

��

��
 � = arccsch(�) 		⇒ 		

��

��
=

1

|�|√1 + ��

��

��
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���������� 

 

1.−Derivar	y	simpli�icar		� = � senh� +������ 

 

������ó�:		� = � senh(�) + ������ 			⇒ 			 �� = senh(�) + � cosh( �) + senh(�)	������ 

�� = senh(�)�1 + �����(�)� + �. cosh(�) 

 

2.−Derivar	y	simpli�icar		� = senh(arctan(���)) 

������ó�:		��			� = arctan(���)	,						�� = 	
3���

1 + ���
 

��������				� = senh(arctan(���)) 				⇒ 				� = senh(�) 

��í	���				�� = cosh(�)		.		
��

��
⇒			 �� = cosh(arctan(���)) .

3. ���

1 + ���
 

�� =
3��� cosh(arctan(���))

1 + ���
 

 

3.−Derivar	y	simpli�icar		� = arcsen(tanh(��)) 

 

������ó�:	� = arcsen(tanh(��)) 			⇒ 			 �� =
2. �. sech�(��)

�1 − tanh�(��)
	→	 

�� =
2�	sech�(��)

�1 − tanh�(��)
= 2�. sech�(��). sech��(��) = 2� sech(��) 

 

4.−�������	�	�����������		� =
senh�

1 + cosh�
 

������ó�:		� =
senh�

1 + cosh�
				⇒ 				 �� =

[1 + cosh�] cosh� − senh � senh �

[1 + cosh�]�
 

�� =
cosh� + cosh�� − senh��

[1 + cosh�]�
=

cosh � + 1

[1 + cosh�]�
=

1

1 + cosh �
 

5.−Derivar	y	simpli�icar senh� = tan � 

������ó�:		 senh� = tan�		 ⇒ 		�� cosh� = sec�(�)		 	⇒ 			 �� =
sec�(�)

cosh�	
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6.−Derivar	y	simpli�icar			� = arccoth �ln �
�

2
�� 

������ó�:			� = arccoth �ln �
�

2
�� 			⇒ 			 �� =

1

1 − ln� �
�

�
�
	.
1
�

�

	 .
1

2
 

�� =
1

�	 �1 −	 ln� �
�

�
��

 

 

7.−Derivar	y	simpli�icar		� = ln�tanh(2�) 

������ó�:			��	� = 	 tanh(2�)		,			�� = 2sech�(2�) 

�����								� = ln√�	 			⇒ 			 �� =
1

√�
∙
1

2√�

��

��
		,			����		�� = 	2. sech�(2�) 

� = ln�tanh(2�) 	⇒ 		�� =
1

�tanh(2�)
	.		

1

2�tanh(2�)
	. sech�(2�). 2				 

�� =
sech�(2�)

tanh(2�)
=

1

cosh(2�) senh(2�)
			⇒ 			 �� =

2

senh(4�)
 

 

8.−Derivar	y	simpli�icar		� = �√sech�
�

�
�
 

������ó�:				� = �√sech �
�

�
�
→ 		� = (sech�)�/� 

�� = 	
4

3
(sech�)

�

�. (− sech � tanh(�)) 				⇒ 		�� = −
4

3
(sech	�)

�

�. tanh(�) 

 

9.−Derivar	y	simpli�icar			� = ln[coth(5�) − csch(5�)] 

							������ó�:			��			� = ln[coth(5�) − csch(5�)] 

	��������			�� =
[−5csch�(5�) + 5 csch(5�)coth(5�)]

coth(5�) − csch(5�)
 

�� =
5[−csch�(5�) + csch(5�)coth(5�)]

coth(5�) − csch(5�)
=
5[coth(5�) − csch	(5�)]csch	(5�)

coth(5�) − csch	(5�)
= 5csch	(5�) 

� = ln[coth(5�) − csch(5�)] 		⇒ 		�� = 	5csch	(5�) 

 



Problemas resueltos  Derivar y simplificar funciones hiperbólicas 

77 
 

10.−Derivar	y	simpli�icar	 arctanh� = arctan(sech	�) 

������ó�:		� = sech� 		,				�� = 	 sech� tanh � 

arctanh� = arctan(�) 				⇒ 		
��

1 − ��
= 	

1

1 + ��
∙
��

��
 

��

1 − ��
= −

sech� tanh �

1 + sech��
			⇒ 			 �� = −(1 − ��)

sech� tanh �

1 + sech��
 

 

11.−Derivar	y	simpli�icar		� = ln��tanh���
�
�� 

������ó�:		� = 3ln��tanh���
�
��.

2�

tanh���
�
�
	 . sech����

�
�. ��

�
 

�� =
6�	����tanh���

�
��. sech����

�
���

�

tanh���
�
�

 

 

12.−Derivar	y	simpli�icar		� = arccosh���
�
� 

������ó�:								��		� = ��
�
,					

��

��
= 2�	��

�
 

� = arccosh���
�
� 			⇒		 � = arcosh(�),					�����				�� = 	

1

√�� − 1
∙
��

��
 

��	�����		�� =
2�	��

�

����
�
− 1

 

 

13.−Derivar	y	simpli�icar		� = ln(ln(arcsech(��))) 

������ó�:		� = 	 arcsech(��) 				⇒ 		 �� =
2�

��√1 − ��
 

	� = ln(ln(arcsech(��))) 			⇒ 		� = ln(ln	�) 		⇒ 		�� = 	
1

ln	(�)
∙
1

�
∙ �′ 

�� =
2�

ln(arcsech(��))	. arcsech(��)	. ��√1 − ��
 

�� =
2

�√1 − ��	. ln(arcsech(��)) arcsech(��)
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14.−Derivar	y	simpli�icar		� = ln[arcsenh(���)]�/� 

������ó�:					� = ln[arcsenh(���)]�/� 				⇒ 				 �� =

�

�
[arcsenh(���)]�/�

[arcsenh(���)]�/�
	 .

2	���

√��� + 1
 

�� =
3	���

arcsenh(���)	. √��� + 1
 

 

15.−Derivar	y	simpli�icar		� = [csch�(�� − 3� + 1)]�/� 

������ó�:				��		� = �� − 3� + 1				�					�� = 2� − 3			��������				� = [csch	(�)]�/� 

�� =
2

5
[csch	(�)]�

�

�[− csch(�) coth(�)] �
��

��
� 	⇒ 		�� = −

2

5
[csch	(�)]

�

�[coth(�)]�′ 

�� = −
2

5
csch

�

�(�� − 3� + 1)coth(�� − 3� + 1) ∙ (2� − 3) 

 

16.−Derivar	y	simpli�icar		� = [sech�(3�). cosh�(3�)] 

������ó�:		sech�(�) =
1

cosh�(�)
 

� = [sech�(3�). cosh�(3�)] 	⇒ 		� =
1

cosh�(3�)
	. cosh�(3�) 

� = 1					 ⇒ 		�� = 0 

 

17.−�������	�	�����������		� =
1

�
sech�

1

�
� 

������ó�:		� =
1

�
	. sech�

1

�
� 		⇒ 		�� =

−1

��
sech �

1

�
� +

1

�
�−sech�

1

x
� tanh �

1

�
�	. �−

1

��
�� 

�� = −
1

��
sech�

1

�
� �1 −

tanh �
�

�
�

�
� 

 

 

18.−Derivar	y	simpli�icar		3 arcsenh(�� + ��) = arctanh	� 

������ó�:		3.
2� + 2	�	�′

�(�� + ��)� + 1
=

1

1 − ��
					⇒ 				2� + 2��� =

�(�� + ��)� + 1

3(1 − ��)
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2��� =
�(�� + ��)� + 1

3(1 − ��)
− 2�				 ⇒ 					 	�� =

�(�� + ��)� + 1

6�(1 − ��)
−
�

�
 

 

19.−Derivar	y	simpli�icar	� = ln�senh�√��� 

������ó�:		� = √� 				⇒ 				
��

��
=

1

2√�
 

� = ln�senh�√��� 		⇒ 		� = ln(senh	�) 

�� =
1

senh(�)
	 ∙ 	cosh(�) ∙

��

��
			⇒ 				 �� =

cosh�√��

2√� senh�√��
=

1

2√�
. coth�√�� 

 

20.−�������	�	�����������			� =
1

�tanh�ln�(3�)�

 

������ó�:		��	� = 3�				��������				
��

��
= 3					 

	���	��		�����		� =
1

�tanh�ln�(�)�

		⇒ 		� = �tanh�ln�(�)��
��/�

 

 

			�� = −
1

2
�tanh�ln�(�)��

��/�
sech��ln�(�)�2 ln(�)	.

1

�
∙
��

��
 

			�� = −
1

2
�tanh�ln�(3�)��

��/�
sech��ln�(3�)�2 ln(3�)	.

1

3�
∙ 3				 

 

				�′ = −
1

�
�tanh�ln�(3�)��

��/�
sech��ln�(3�)� ln(3�) 
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������	��	���������ó� 

 

1.−	�(�� + �� + ��) 		= ��� + ��� + ��� 

��	��������	��	���	����	��	���������	��	�����	�	��	����	��	���	����������	��	��� 
���������	�������. 

2.−	���� = ����.			 

��	��������	���	��������	��	���	���������	���	���	�����ó�	��	�����	�	��	��������� 
���	��	��������	��	��	�����ó�. 

3.−	��� = � + �		.			 

��	��������	��	��	�����������	��	u��	�����	�	��	�����ó�	�	�á�	��	���������	�� 
���������ó� 

4.−	����� = 		
����

� + 1
+ 	�	.		 

��	��������	��	��	��������	��é����	��	��	�����ó�	u��	�����	�	��	��������	��	(� + 1) 
��		"u"  ��������	���	(� + 1)	. 

5. −	�
��

�
	= 	 ln � + �		.		 

(� = −1	��	��	�ú����	������). 

6.−	����� = 	�� + �		.	 

��	��������	��	���	��������	��	����		"e"��	�����	�	��	�����	��������	�á�	��	��������� 
��	���������ó�. 

7.−	����� = 	
��

ln �
+ �		.		 

��	��������	��	���	��������	��	����		"�"��	�����	��	��������	��	��	��������	��������	��� 
��	���������	�������	��	��	����	�á�	��	���������	��	���������ó�. 
 

������	��	���������ó�	����	���������	��������é������ 

 

1.−	� sen � �� = 	 cos � + � 2.−�cos � �� = 	−sen� + � 

3.−	� sec� � �� =	 tan � + � 4.−	� csc� � �� =	− cot � + � 
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5.−	� sec � tan� �� = 	 sec� + � 6.−	� csc� cot � �� = −	csc� + � 

7.−	� tan� �� = 	 ln(sec �) + � 8.−	� cot � �� = 	 ln(sen �) + � 

9.−	�
��

�� + ��
= 	

1

�
arctan(�) + � 10.−	�

��

√�� − ��
= 	arcsen�

�

�
� + � 

11.−	�
��

√�� − ��
= 	 ln �� + ��� − ��� + � 12.−	�

��

√�� + ��
= 	 ln �� + ��� + ��� + � 

13.−	�sec � �� = ln(sec� + tan�) + � 14.−	�csc � �� = ln(csc � − cot �) + � 

 

 

CALCULAR LAS SIGUIENTES INTEGRALES. 

 

1.−	��������:			�(	√� + 8� − 3)�� 

������ó�:�(	√� + 8� − 3)�� = 	��
�
�� �� + 8	���� − 3��� 

�(	√� + 8� − 3)�� = 		
2

3
�
�
�� + 	4�� − 3� + � 

 

2.−	��������			�(2	√� − √�
�

− ��)�� 

������ó�:�(2	√� − √�
�

− ��)�� = 2��
�
�� �� −��

�
�� �� − ��� �� 

		2.
2

3
�
�
�� −

3

4
�
�
�� −

1

5
�� + � =

4

3
�
�
�� −

3

4
�
�
�� −

1

5
�� + � 

�(2	√� − √�
�

− ��)�� = 	
4

3
�
�
�� −

3

4
�
�
�� −

1

5
�� + �	 

 

3.−��������		�
2��

��
 

������ó�:�
2��

��
= 2�

��

��
+ � = ���� . �� + � 

2�
��

��
= 2 ∙

���

−2
+ �		 = 	−

1

��
+ � 
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4.−��������		�
��

sec	(�)
 

������ó�:�
��

sec	(�)
= 	�

��
�

���	�

= 	� cos	�	�� = sen	� + � 

 

5.−	��������:	��√�	. (� + ��)
� ��� 

������ó�:��√�	. (� + ��)
� ��� = �(√�	. �)	�� +	�(√� √�

�
	)��		 + � 

���
�

�. �� �� +	�(�
�

� . �
�

�)�� + � = ��
�

� �� +	��
�

�� ��	 + �	 

��√�	. (� + ��)
� ��� 	= 	

2

5
�
�

� +
10

17
�
��

�� + � 

 

6.−��������	�
(	�� + 2�)���

��
 

������ó�:�
(	�� + 2�)���

��
= 	�

(�� + 4�� + 4��)��

��
+ � 

�(�� + 4� + 4)�� + � = 	��� �� + 4���� + 4��� + � 

�
(	�� + 2�)���

��
= 	

1

3
�� + 2�� + 4� + � 

 

7.−	��������:		� �.��� + 2�� 

������ó�:										� = �� + 2				 ⇒ 				
��

2
= ��� 

���.��� + 2��� =
1

2
��

�
�� �� =

1

3
�
�
�� + � = 	

1

3
(�� + 2)

�
�� + � 
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	8.−��������:		� tan(�)�� 

������ó�:� tan(�)�� = �
sen(�)��

cos(�)
 

� = cos(�) 				⇒ 		−�� = sen(�)�� 

�tan(�)�� = −�
��

�
= −ln(�) + � = ln�cos(�)� + � = ln(1) − ln�cos(�)� + � 

�tan(�)�� 		= ln(sec(�) + � 

 

9.−��������	�
(�� + 5�� − 6�� + 8)��

��
 

������ó�:�
(�� + 5�� − 6�� + 8)��

��
= ��� �� + 5��� �� − 6���� + 8	���� �� + � 

�
(�� + 5�� − 6�� + 8)��

��
= 	

1

6
�� +

5

4
�� − 3�� −

8

�
+ � 

 

10.−	��������:		�(4� + 3)� �� 

������ó�:�(4� + 3)� ��	 = �16�� �� + �24� +�9�� + � 

�(4� + 3)� �� = 	
16

3
�� + 12�� + 9� + � 

 

11.−��������	�
����

�� − 2
 

������ó�:			� = 	�� − 2			 ⇒
��

3
= 	���� 

�
����

�� − 2
= 	

1

3
�
��

�
= 	

1

3
ln(�) + � =

1

3
ln(�� − 2) + � 

12.−	��������:		� 2�. ��
�
�� 

������ó�:		� = 	�� 				→ 				�� = 2�	�� 
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�2�. ��
�
�� = 	���

�
. 2��� 

��� �� = 	�� + � = ��
�
+ � 

 

13.−��������	�
��

1 − �
 

������ó�:			� = 1 − �				 ⇒ 	−�� = ��										 

�
��

1 − �
=	�−

��

�
+ � = −�

��

�
+ � = −ln	� + � = 	−ln(1 − �) + � 

 

14.−��������	�
(� + 2)��

2√� + 2
 

������ó�:			� = � + 2				 → 						�� = ��	

�
(� + 2)��

2√� + 2
= 	

1

2
�
���

�
�
��
= 	

1

2
��. �

��
�� �� =	

1

2
��

�
�� �� = 	

1

2
.
2

3
�
�
�� + � = 	

1

3
�
�
�� + �	 

�
(� + 2)��

2√� + 2
= 	

1

3
	(� + 2)

�
�� + � 

	

15. −	��������:		�(3�� − 1)��� 

������ó�:		�(3�� − 1)� �� = 27��� − 27����� + 9����� − ��� 

�(3�� − 1)��� = 		
27

7
�� −

27

5
�� + 3�� − � + �	

16.−		��������:			� �
5

�
−
�

5
��� 

������ó�:��
5

�
−
�

5
��� = 	�

5��

�
−
1

5
���� + � = 5	ln(�) −

1

10
�� + � 

17.−	��������:		� cos	(��)2�	�� 

	������ó�:										� = ��	 				→ 						�� = 2�	��						 
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�cos	(��)2�	�� = �cos��� = sen	� + � = sen	(��) + � 

18.−	��������:		�(1 − cos	 �)� sen	�	�� 

������ó�:		�(1 − cos�)� sen	�	�� = ��1 − 3	cos	� + 3	cos�� − cos�(�)�sen(�)�� 

= �sen(�)�� − 3�cos	�	sen	�	�� + 3�cos�(�)sen	�	�� −� cos�(�)sen(�)�� 

�(1 − cos	�)� sen	�	�� = −cos(�) +
3

2
cos�(�) − cos�(�) +

1

4
cos�(�) + �		 

 

19.−���������
����

�� − 2
 

		������ó�:�
����

�� − 2
= ��1 +

2

�� − 2
��� = ��� + 2�

��

�� − 2
= � +

1

√2
ln
� − √2

� + √2
+ � 

 

20.−	��������:		�(3�� − 1)(� + 2)�� 

������ó�:		�(3�� − 1)(� + 2)�� = 	�(3�� − � + 6�� − 2)��

= 3����� − ���� + 6��� �� − 2��� = 	
3

4
�� −

1

2
�� + 2�� − 2� + � 

 

21.−���������
(5� + 3)���	

4
 

������ó�:								 �
(5� + 3)���	

4
= �

(25�� + 30� + 9)��

4
+ �	 

��
25

4
�� +

30

4
� +

9

4
��� + � = 		

25

4
����� +

15

2
���� +

9

4
��� + � 

�
(5� + 3)���	

4
= 		

25

4
.
1

3
�� +

30

4
.
1

2
�� +

9

4
� + � = 	

25

12
�� +

15

4
�� +

9

4
� + � 
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22.−	��������:		�(5�� − 1)��� 

������ó�:							 �(5�� − 1)��� = 	�(25�� − 10�� + 1)�� 

�(5�� − 1)���	 = 25��� �� − 10��� �� +��� = 25.
1

7
�� − 10.

1

4
�� + � + � 

�(5�� − 1)���	 =
25

7
�� −

5

2
�� + � + � 

23.−		��������:		������ �� 

������ó�:			� = 5� + 3		 → 						
��

5
= �� 

������ �� = 	
1

5
��� . �� = 	

1

5
. �� + � = 	

1

5
. ����� + � 

 

24.-��������:		 ∫(2�� + 1)
�

����� 

������ó�:			� = 2�� + 1		 → 		
��

4
= ���		,					�� =

� − 1

2
 

�(2�� + 1)
�

����� = 	��� (2�� + 1)
�

�	��� = 	��
� − 1

2
��

�

�
��

4
= 	

1

8
�(� − 1)�

�

� ��

=
1

8
��

�

� �� −
1

8
��

�

� 	�� 

→		
1

20
�
�

� −
1

12
�
�

� + � =
1

20
(2�� + 1)

�

� −
1

12
(2�� + 1)

�

� + � 

 

25.−��������:�
(� + 3)��

(3 − �)
�
��
 

������ó�:					� = 3 − �,								 − �� = ��										� + 3 = 6 − � 

�
(� + 3)��

(3 − �)
�
��
= �

(6 − �)(−��)

�
�
��

= −6���
�

�	�� + ���
�

�	�� 

= −18�
�
�� +

3

4
�
�
�� + � = −18(3 − �)

�
�� +

3

4
(3 − �)

�
�� + � 
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26.−		��������:		�(1 + sen(2�))
�
�� . cos(2�)�� 

������ó�:			� = 1 + sen(2�) 			→ 					
��

2
= cos(2�)�� 

1

2
��

�

� �� = 	
1

2
.
2

5
�
�
�� + � =	

1

5
�
�
�� + � = 	

1

5
(1 + sen(2�))

�
�� + � 

 

��.−��������:		�
sen	���

cos��
 

������ó�:				� = cos	�			 → 		−�� = sen	�	�� 

�
sen	�	��

cos��
= �cos�� �	sen	�	�� = 	−���� �� = 		��� + � = 		cos(�)�� + 	� =

1

cos(�)
+ �

= sec(�) + � 

 

28.−��������:			�(��� + �)	(1 − 2���)�� 

������ó�:							� = ��� + �			 → 			�� = (−2��� + 1)��				 → 			�� = (1 − 2���)�� 

�(��� + �)	(1 − 2���)�� = ��(��) = ���� =
��

2
+ � =

1

2
(��� + �)� + � 

 

29.−��������		�
���

(1 − 2��)�
 

������ó�:		� = 	1 − 2�� → 		−
��

4
= ��� 

�
���

(1 − 2��)�
= 	

−1

4
�
��

��
=	

−1

4
���� �� = 	

−1

4
.
1

−2
��� + � = 	

1

8
(−2�� + 1)�� + � 

 

30.−��������	�
(�� + �)��

4 − 3�� − 2��
	

������ó�:					� = 4 − 3�� − 2��			 → 				�� = −6(�� + �)��) 		→ 		−
��

6
= (�� + �)��	
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�
(�� + �)��

4 − 3�� − 2��
== −

1

6
�
��

�
= 	−

1

6
ln�4 − 3�2 − 2�3� + � 

31.−������������ + �� (10�� + 5�) �� 

������ó�: � = 	�4 + �2 →
5��

2
= �10�3 + 5����	

���� + �� (10�� + 5�)�� = 	
5

2
��

�

� �� = 	
5

3
�
�

� = 		
5

3
(�	�� + ��

�
+ � 

32.−��������	�
��

√�(√� − 3)�
 

������ó�:		� = √� − 3		 → 2�� =
��

√�
	

�
��

√�(√� − 3)�
= 2�

��

��
= −

1

2��
+ � = −

1

2�√� − 3�
� + � 

	

33.−��������		��1 +
1

�
�
1

��
�� 

������ó�:			� = �1 +
1

�
� 	→ 	−�� =

��

��
	

� �1 +
1

�
�
1

��
�� = −���� = −

��

2
+ � = −

1

2
�1 +

1

�
�
�

+ � 

 

34.−��������		�
(√� − 1)

�

�	��)

√�
 

������ó�:			� = √� − 1	 → 		2�� =
��

√�
	

�
(√� − 1)

�

�	��)

√�
= 2��

�

�	�� =
4

5
�
�

� + � 

�
(√� − 1)

�

�	��)

√�
=
4

5
�√� − 1�

�
�� + � 
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35. ���������
��

�

� − 2�
�

√��
� �� 

������ó�:			� = 	�
�

� − 2			,			3�� =
��

√��
�  

�
��

�

� − 2�
�

√��
� �� = 3����� =

1

2
�� + � =

1

2
��

�

� − 2�
�

+ � 

 

36.−��solver:		 � �� . (� + 1)
�
�� 	�� 

��������: � = � + 1		 → 		 (� − 1)� = ��	,							�� = ��			 

�(� − 1)� �
�

�	�� = �(�� − 2� + 1)�
�

�	�� = ��
�

� �� − 2��
�

� �� +��
�

� ��

= 	
2

7
�
�

� − 2
2

5
�
�

� +
2

3
�
�

� + � = 	
2

7
�
�

� −
4

5
�
�

� +
2

3
�
�

� + �

=
2

7
(� + 1)

�

� −
4

5
(� + 1)

�

� +
2

3
(� + 1)

�

� + � 

 

37.−��������		�
3���

(1 − 3�)�
 

Solución:		u = 1 − 3x		 → 			−�� = 3��			,			� =
1 − �

3
 

�
3���

(1 − 3�)�
= 	−

1

3
�
(1 − �)��

��
= 	−

1

3
�(1 − �)(���)�� = 	−

1

3
�(��� − ���)��

= −
1

3
������� −������� = 	−

1

3
[−��� − ln(�)] + � 

�
3���

(1 − 3�)�
=
1

3
(1 − 3�)�� +

1

3
ln(1 − 3�) + � 

38.−		��������:		�(3 − �)
�

� ��� 

������ó�:			� = 	3 − �			,				� = 3 − �				 − �� = �� 
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�(3 − �)
�

� ��� = ��
�

�(3 − �)(−��) =��
�

� (� − 3)�� = 	��
�

�	�� − 3��
�
� ��

= 	��
�

� �� − 3��
�

�	�� = 	
2

9
�
�
�� − 3.

2

7
�
�
�� + � =

2

9
�
�
�� −

6

7
�
�
�� + �

=
2

9
(−� + 3)

�
�� −

6

7
(−� + 3)

�
�� + � 

 

39.−��������� √3 + �
�

(� + 1)��� 

������ó�:		� = 3 + �		 → � + 1 = � − 2		 → 		�� = �� 

� √3 + �
�

(� + 1)��� = � √�
� (� − 2)��� = � √�

� (�� − 4� + 4)�� 

� √�
� (�� − 4� + 4)�� = ��

�

��� − 4��
�

��� + 4��
�

� �� =
3

10
�
��

� −
12

7
�
�

� + 3�
�

� + � 

� √3 + �
�

(� + 1)��� =
3

10
(3 + �)

��

� −
12

7
(3 + �)

�

� + 3(3 + �)
�

� + � 

40.−��������	���� (1 +
1

2�
)
�

��� 

������ó�:			� = 1 +
1

2�
			→ 		� − 1 =

1

2
��� 				→ 	2(� − 1) = ��� 		→ 		−2�� = ����� 

���� (1 +
1

2�
)
�

������ = 	�2(� − 1)(�)
�

� . (−2��) = −4�(� − 1)(�)
�

� ��

= −4� ����
�

� − �
�

�� ��� = −4��
�

� �� + 4��
�

�	�� = 	−4.
2

7
�
�

� + 4.
2

5
�
�

� + �

= −
8

7
�
�

� +
8

5
�
�

� + � = −
8

7
(1 +

1

2�
)
�

� +
8

5
(1 +

1

2�
)
�

� + � 

 

41.−��������	�
(� + 1)��

√�� + 2� + 2
 

������ó�:				� = �� + 2� + 2			 → 					�� = 2� + 2��			 → 	
��

2
= (� + 1)�� 

�
(� + 1)��

√�� + 2� + 2
=
1

2
�

��

�
�
��
=
1

2
��

��

� �� = 	
1

2
. 2	�

�

� + � = �
�

� + � = (�� + 2� + 2)
�

� + � 

 



Problemas resueltos  Cálculo de integrales de funciones 

91 
 

42.−��������	�
(� + 3)��

�(9 − �)�
�

 

	������ó�:				� = 9 − �		 → 		� + 3 = 12 − �		 → 	−�� = �� 

�
(� + 3)��

�(9 − �)�
�

= �
(12 − �)(−��)

�
�

�

= 12���
�

�(−��) +��
�

��� = −36�
�

� +
3

4
�
�

� + � 

�
(� + 3)��

�(9 − �)�
�

= −36(9 − �)
�

� +
3

4
(9 − �)

�

� + � 

 

43.−��������:			� �� +
1

�
�

�

�

�
�� − 1

��
��� 

������ó�:						� = � +
1

�
				→ 		�� = 	

�� − 1

��
�� 

��� +
1

�
�

�

�

�
�� − 1

��
��� = 	��

�

� �� = 	
3

8
�
�

� + � = 	
3

8
�� +

1

�
�

�

�

+ � 

 

44.−��������	� �2�� − 1
�

���� 

������ó�:			� = 2�� − 1		 → 		�� =
� + 1

2
			→

��

4
= ��� 

� �2�� − 1
�

���� = ��� �2�� − 1
�

�	�� =
1

4
��

� + 1

2
� √�

�
�� =

1

8
��

�

�	�� +
1

8
��

�

�	�� 

� �2�� − 1
�

���� =
3

56
�
�

� +
3

32
�
�

� + � =
3

56
(2�� − 1)

�

� +
3

32
(2�� − 1)

�

� + � 

 

45.−��������	�
1

��		
�
� − 1

�
�

�

�

�� 

������ó�:		� = 1 −
1

�
			→ 			�� =

��

��
 

�
1

��		
�
� − 1

�
�

�

�

	�� = 	��
�

� �� = 	
2

3
�
�

� + � = 	
2

3
�
� − 1

�
�

�

�

+ � 
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46.−��������	����2�� + 3�� 

������ó�:	� ���2�� + 3	�� = ����2�� + 3�	�� 

� = 2�� + 3		 → 		
��

4
= ���		 → 		

� − 3

2
= �� 

����2�� + 3 �	�� = ��
� − 3

2
��

�

�
��

4
=
1

8
��

�

�	�� −
3

8
��

�

�	�� =
1

20
�
�

� −
1

4
�
�

� + � 

����2�� + 3�	�� =
1

20
(2�� + 3)

�

� −
1

4
(2�� + 3)

�

� + � 

47.- ��������:		 ∫ �(�� + 2)���� 

������ó�:					� = �� + 2			 → 				
��

2
= ��� 

��(�� + 2)���� =
1

2
������ = 	

1

2
.
1

11
��� + � = 	

1

22
��� + � = 	

1

22
	(�� + 2)�� + � 

 

48.−��������:			�
(2� + 3)��

√�� + 3�
 

������ó�:						� = �� + 3�					 → 			�� = (2� + 3)�� 

�
(2� + 3)��

√�� + 3�
= 	�

(2� + 3)��

(�� + 3�)
�
��
= 	�

��

�
�
��
= 	��

��
�� 	�� = 	2�

�
�� + � = 2(�� + 3�)

�
�� + � 

 

49.−��������	�√��1 + �√�	�� 

������ó�: � = 1 + �√�	 		→ 				� = 1 + �
�

� 		→ 	
2

3
�� = √��� 

�√��1+ �√�	�� =
2

3
��

�

��� =
4

9
�
�

� + � =
4

9
�1 + �√��

�

� + � 

 

50.−��������:			� �� (�� − 3)
�
�� �� 

��������:					� = �� − 3		 → �� = � + 3			 → 				��� =
��

2
 



Problemas resueltos  Cálculo de integrales de funciones 

93 
 

��� (�� − 3)
�

�	�� = 	���(�� − 3)
�

�	�	�� = 	�(� + 3)�
�

�
��

2
=
1

2
�(� + 3)�

�

� �� 

=
1

2
�(�

�

� + 3�
�

�)�� 

=
1

2
��

�

�		�� +
3

2
��

�

�		�� = 	
2

2
∙
�
�

�

5
+
3

2
∙
2�

�

�

3
− 	� = 	

1

5
�
�

� + �
�

� + � 

��� (�� − 3)
�

�		�� =
1

5
(�� − 3)

�

� + (�� − 3)
�

� + � 

 

 

51.−��������	�
���

(�� + �)
�

�

 

������ó�:				� = �� + �				 → 				� =
� − �

�
		→ 			�� =

��

�
 

��������	�
���

(�� + �)
�

�

=
1

��
���

�
�� (� − �)�� =

1

��
���

�
�� �� −

�

��
���

�
�� �� 

�
���

(�� + �)
�

�

=
2

��
�
�
�� +

2�

��
��

�
�� + � =

2

��
√�� + � +

2�

��√�� + �
+ � 

52.−��������			 ��
�� + 2

��
��� −

1

��
	�� 

������ó�:		� = � −
1

��
						→ 				�� = �

�� + 2

��
� 	�� 

��
�� + 2

��
��� −

1

��
	�� = ��

�
�� 	�� =

2

3
�
�
�� + � =

2

3
�� −

1

��
�

�
��

+ � 

 

53.−��������:		 �
��

sec(2�)
 

������ó�:				� = 2�		 → 		
��

2
= �� 

�
��

sec(2�)
= �cos(2�)�� =

1

2
�cos	�	�� =

1

2
sen	� + � = 	

1

2
sen(2�) + � 
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54.−��������	�
cot(3�)��

sen�(3�)
 

������ó�:		� = 3�			 → 			
��

3
= ��				

�
cot(3�)��

sen�(3�)
= �csc� (3�)cot(3�)�� =

1

3
� cot	�	csc� �	�� 

																						� = cot	�					 → 					−�� = csc�	�	��		 

1

3
� csc� �	cot	�	�� = −

1

3
���� = −

1

3
.
1

2
�� + � = 	−

1

6
�� + � = −

1

6
(cot	�)� + �

= −
1

6
(cot(3�))� + � 

 

55.−��������	���cot(��) csc(��) �� 

������ó�:		� = ��		 		→ 		
��

3
= ���� 

���cot(��) csc(��) �� =
1

3
�csc(�)cot(�)�� = 	

1

3
(−csc �) + � = −

1

3
csc �� + � 

 

56.−��������		��tan(�) 	sec�(�)	�� 

������ó�:			� = tan(�) 			→ 				�� = sec�(�)�� 

��tan(�) sec�(�)	�� = 	�(tan	�)
�

� 	sec��	�� + �	 

��
�

�	�� = 	
2

3
�
�

� + � = 	
2

3
(tan	�)

�

� + � 

 

57.−��������		� sec(�)�sec(�) − tan(�)��� 

������ó�:		� sec �	(sec � − tan	�)�� = 			�[sec�� − (sec	�	tan	�)] ��	 

�sec� �	�� −� sec�	tan	�	�� = tan	� − sec	� + � 
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58.−��������		�(sen(�))
�

� cos(�) �� 

������ó� ∶ � = sen(�) 		→ 		�� = cos(�) �� 

�(sen(�))
�
�� cos(�) �� = ��

�
�� �� =

3

5
�
�
�� + � =

3

5
(sen	�)

�
�� + � 

 

59.−	��������	�
tan	�	��

cos��
 

������ó�:		� = tan	�		 → 			�� = sec�	�	�� 

�
tan	�	��

cos��
= �

tan	�
�

�����

= � tan(�)sec� (�)�� = 	��	�� =
1

2
�� + � =

1

2
tan�� + � 

60.−��������		�
sen(2�)��

√1 + sen��
 

������ó�:		� = 1 + sen��			 → 		�� = 2sen	�	cos	�	��	 → 		�� = sen(2�)�� 

�
sen(2�)��

√1 + sen��
=	�

2	sen�	cos	�	��

√1 + sen��
= �

��

�
�
��
= 2�

�
�� + � = 2(1 + sen��)

�
�� + � 

 

61.−��������	�
��

cos��	�tan(�) − 1
 

������ó�:		� = tan	� − 1			 → 		�� = sec��	�� 

�
��

cos��	�tan(�) − 1
= �

sec��	��

√tan	� − 1
= �

sec��	��

(tan	� − 1)
�
��
=	 

�
��

�
�

�

= ���
�
�� �� = 2�

�
�� + � = 2√tan	� − 1 + � 

 

62.−���������
csc��√����

√�
 

������ó�:		� = √� 				→ 			2�� = 	
��

√�
 

�
csc��√����

√�
= 2� csc���� = −2cot	� + � = −2cot	√� + � 
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�3.−��������			 �
��. sen(�� + 1)��

cos�(�� + 1)
 

������ó�:		� = �� + 1			 → 		
��

3
= ����			 

�
��. sen(�� + 1)��

cos�(�� + 1)
= 	

1

3
�
sen	�	��

cos�	�
=
1

3
�cos��	�(sen	� ��) 

� = cos�			 → 	−�� = sen��� 

1

3
�cos��	�(sen	� ��) =

1

3
����(−��) =−

1

3
������ =

1

6
��� + � 

 

�
��. sen(�� + 1)��

cos�(�� + 1)
=
1

6
cos��� + � =

1

6
cos��(�� + 1) + � 

 

64.−��������		�
��

sen�(�� + �)
 

������ó�:		� = �� + �				 → 			
��

�
= �� 

�
��

sen�(�� + �)
= �csc� (�� + �)�� =

1

�
�csc� �	�� = −

1

�
cot	� + � = −

1

�
cot(�� + �) + � 

 

65.−��������	��. sen�
��

2
��� 

������ó�:				� =
��

2
			→ 			�� = ��� 

��. sen�
��

2
��� = �sen	�	�� = 	− cos� + � = −cos �

��

2
� + � 

 

66.−��������	�
sen√�. cos√�	��

√�
 

������ó�			� = √� 			→ 			2�� =
��

√�
 

������ó�	�:�
sen√�. cos√���

√�
= 2�sen	�. cos �	�� =sen�� + � = sen�(��) + � 
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������ó�		��:		 �
sen√�. cos√�	��

√�
= �2	sen	�. cos �	�� 

�sen(2�)�� = −
1

2
cos(2�) + � = 	−	

1

2
cos�2√�� + � 

67.−��������	� sec��	tan	�	�� 

������ó�:		� sec��	tan	�	�� = �sec��(sec	�. tan	�)�� 

���				� = sec	�	,				�� = sec	�	tan	�	�� 

�sec��(sec	�. tan	�)�� = ����� = 	
1

3
�� + � 

�����	�����			 � sec��	tan	�	�� = 	
1

3
sec�� + � 
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��������	���	�������	�	�������	��������������		�������	 

 

��	���	���������	���	������	�	����������ó�	��	��������	���	����������	�ó������	 

��	���������ó�:																													 �
��

�� + ��
= 	

1

�
arctan�

�

�
� + � 

�
��

√�� − ��
= arcsen�

�

�
� + �	,						 

�
��

�√�� − ��
=
1

�
arcsec �

�

�
� + � 

 

1.−��������:			�
��

√2 − 5��
 

�
��

√2 − 5��
= �

��

�(√2)� − (√5�)�
 

������ó�:					� = √2		,			� = √5�			 → 		
1

√5
�� = �� 

��������				 �
��

√2 − 5��
=

1

√5
�

��

√�� − ��
=

1

√5
arcsen�

�

�
� + � 

�
��

√2 − 5��
=

1

√5
arcsen�

√5�

√2
� + � 

 

2.−��������:			�
��

√2 + � − ��
 

��������:			�
��

√2 + � − ��
= �

��

�2 +
�

�
− (�� − � +

�

�
)

= �
��

�
�

�
− (� −

�

�
)�

 

� =
3

2
	,			� = 		� −

1

2
		,			�� = ��	 

�
��

√�� − ��
= arcsen �

�

�
� + �			 ⇒ arcsen�

� −
�

�
�

�

� + 	�	 = arcsen �
2� − 1

3
� + 	� 
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3.−��������:		�
��

�� + 2� + 10
 

��������:				 �
��

�� + 2� + 10
= �

��

9 + (�� + 2� + 1)
= �

��

3� + (� + 1)�
=
1

3
arctan �

� + 1

3
� + � 

 

4.−��������		�
���

�� + 3
= �

���

(√3)� + (��)�
 

������ó�:			� = √3			, � = �� 		→ 		
��

2
= ���		 

��������			 �
���

(√3)� + (��)�
=
1

2
�

��

�� + ��
=
1

2
.
1

�
arctan�

�

�
� + � 

�
���

�� + 3
=

1

2√3
arctan�

��

√3
� + � 

 

5.−��������		�
��

�√4�� − 9
= �

��

��(2�)� − 3�
= 2�

��

2��(2�)� − 3�
 

������ó�:			� = 3			, � = 2�		 → 				
��

2
= �� 

��������						2�
��

2��(2�)� − 3�
=
2

2
�

��

�√�� − ��
=
1

�
arcsec �

�

�
� + � 

�
��

�√4�� − 9
=
1

3
arcsec �

2�

3
� + � 

 

6.−��������		�
����

√1 − ��
= �

����

�1 − (��)�
 

������ó�:		� = 1		, � = �� 			→ 		
��

3
= ���� 

��������			 �
����

�1 − (��)�
=
1

3
�

��

√�� − ��
=
1

3
arcsen �

�

�
� + � 

�
����

√1 − ��
=
1

3
arcsen(��) + � 
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7.−		��������:			 �
���

��√�� − 1
 

������ó�:					� = 1		, � = �� 		→ 		
��

2
= ���		 

�����					�
���

��√�� − 1
=
1

2
�

��

�√�� − ��
 

1

2
.
1

�
arcsec�

��

�
� + � =

1

2
arcsec(��) + � 

 

8.−	��������:				 �
����

�� + ��
 

������ó�:		� = ��		,					� = �� →		
��

2
= ��� 

�
����

�� + ��
=
�

2
�

��

�� + ��
=
�

2
.
1

�
arctan �

�

�
� + � =

�

2��
arctan�

��

��
� + � 

 

9.−��������		�
(� + 2)��

√4 − 2� − ��
 

 

������ó�:		�
(� + 2)��

√4 − 2� − ��
= �

(� + 2)��

�(4 + 1) − (�� + 2� + 1)
= �

(� + 2)��

�5 − (� + 1)�

= �
[(� + 1) + 1]��

�5 − (� + 1)�
 

�
(� + 2)��

�5 − (� + 1)�
= �

(� + 1)��

�5 − (� + 1)�
+ �

��

�5 − (� + 1)�
 

� = �
(� + 1)��

√4 − 2� − ��
,		 

ℎ������			� = 4 − 2� − ��, �� = −2(1 + �)��, −
��

2
= (� + 1)�� 

�
(� + 1)��

√4 − 2� − ��
= −

1

2
�

��

�
�
��
 

−
1

2
��

��
�� �� = (−

1

2
)	
�
�
��

�

�

= −�
�
�� = −(4 − 2� − ��)

�
��  
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�� = �
��

�5 − (� + 1)�
,		 

ℎ������		� = � + 1, �� = ��,				� = √5 

�
��

�5 − (� + 1)�
= �

��

√�� − ��
= arcsen�

� + 1

√5
� + �	 

�����		�
(� + 2)��

√4 − 2� − �2
=	−(4 − 2� − ��)

�
�� + arcsen�

� + 1

√5
� + � 

 

10.−	��������:			�
��

�� + 10� + 30
 

�
��

�� + 10� + 30
= �

��

�� + 10� + 25 + 5
= �

��

(� + 5)� + 5
 

��������:		� = √5			, � = � + 5				 → 		du = dx								 

��������					�
��

(� + 5)� + 5
= �

��

�� + ��
=
1

�
arctan �

�

�
� + � =

√5

5
arctan�

� + 5

√5
� + � 

 

11.−	��������:		�
��

�4 − (� + 2)�
 

������ó�:			� = 2		, � = � + 2			 → 		�� = �� 

�
��

�4 − (� + 2)�
= �

��

√�� − ��
= arcsen �

�

�
� + � = arcsen �

� + 2

2
� + �	 

 

12.−��������:		 �
sec(�)tan(�)��

9 − 4	sec�(�)
 

������ó�:		� = 3				,						� = 2sec(�) 		→ 		
��

2
= sec(�)tan(�)�� 

�
sec(�)tan(�)��

9 − 4	sec�(�)
=
1

2
�

��

�� − ��
=
1

2
.
1

2�
. ln �

� + �

� − �
� + � =

1

12
ln�

3 + 2sec(�)

3 − 2sec(�)
� + � 
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13.−��������:			�
cos(�)��

1 + sen�(�)
 

������ó�:			� = 1		, � = ���(�) 			→ 		�� = ���(�)�� 

��������				 �
cos(�)��

1 + sen�(�)
= �

��

�� + ��
=
1

�
arctan �

�

�
� + � = 

�
cos(�)��

1 + ����(�)
= arctan�sen(�)� + � 

 

14.−��������:			�
��

√20 + 8� − ��
 

��������:	 �
��

√20 + 8� − ��
= �

��

�20 + 16 − (�� − 8� + 16)
= �

��

�36 − (� − 4)�
 

	��	��	ℎ���				� = 6					,							� = � − 4					 → 						�� = �� 

��������					 �
��

�36 − (� − 4)�
= �

��

√�� − ��
= arcsen �

�

�
� + � 

�
��

�36 − (� − 4)�
= 		arcsen�

� − 4

6
� + �	 

 

15.−��������:			�
��

√2� − ��
 

�
��

√2� − ��
= �

��

�1 − (�� − 2� + 1)
= �

��

�1 − (� − 1)�
 

������ó�:				� = 1,										� = � − 1					 → 							�� = �� 

�
��

�1 − (� − 1)�
= �

��

√�� − ��
= arcsen �

�

�
� + � 

�
��

√2� − ��
= arcsen(� − 1) 

16.−��������:			�
��

√�(1 + �)
 

��������:				� = 1																				� = √� 					→ 						2�� =
��

√�
 

�
��

√�(1 + �)
= 2�

��

�� + ��
=
2

�
arctan�

�

�
� + � 
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�
��

√�(1 + �)
= 2arcot�√�� + � 

 

17.−��������:			�
��

��1 − ln�(�)
 

��������:		� = 1				,										� = ln(�) 				→ 					�� =
��

�
 

�
��

��1 − ln�(�)
= �

��

√�� − ��
= arcsen �

�

�
� + � 

�
��

��1 − ln�(�)
= arcsen�ln(�)� + �	 

18.−��������:		 �
����

√1 − ���
 

��������:			� = 1,				� = �� 			→ 		�� = ����,			 �
����

√1 − ���
= �

��

√�� − ��
= arcsen �

�

�
� + � 

�
����

√1 − ���
= arcsen(��) + � 

 

19.−��������:			�
����

�� + 25
 

�
����

�� + 25
= �

����

5� + (��)�
 

��������:				� = 5					,								� = �� 					→ 					
��

3
= ���� 

�
����

5� + (��)�
=
1

3
�

��

�� + ��
=
1

3
.
1

�
arctan

�

�
+ � =

1

15
arcot

��

5
+ � 

20.−��������	�
cos(�)sen(�)��

1 + sen�(�)
= �

cos(�)sen(�)��

1 + (sen�(�))�
 

������ó�:				� = 1															� = sen��															
��

2
= sen(�)cos(�)�� 

��������						 �
cos(�)sen(�)��

1 + [sen�(�)]�
=
1

2
�

��

1 + ��
=
1

2
.
1

�
arcot �

�

�
� + � 

�
cos(�)sen(�)��

1 + sen�(�)
=
1

2
arctan�sen�(�)� + � 
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21.−��������	�
��

4�� − 4� + 2
= �

��

[(2�)� − 2(2�) + 1] + 1
= �

��

(2� − 1)� + 1
 

	������ó�:							� = 1																� = 2� − 1																	
��

2
= �� 

��������					 �
��

4��4� + 2
=
1

2
�

��

�� + ��
=
1

2
.
1

�
arctan �

�

�
� + � 

�
��

4�� − 4� + 2
=
1

2
arctan(2� − 1) + � 

 

22.−��������		�
2	sen(4�)��

1 + sen�(2�)
 

�
2	sen(4�)��

1 + sen�(2�)
= �

2sen(4�)��

1 + (sen�(2�))�
 

	������ó�:				� = 1	,						� = sen�(2�)												�� = 2	sen(2�)cos(2�)(2)��	 

4	sen(2�)cos(2�)�� = 2sen(4�)�� 

��������					 �
2	sen(4�)��

1 + sen�(2�)
= �

��

�� + ��
= arctan�

�

�
� + � 

�
2	sen(4�)��

1 + sen�(2�)
= arctan�sen�(2�)� + � 

 

23.−��������		�
csc�(3�)��

25 + cot�(3�)
 

	������ó�:				� = 5	,									� = cot(3�)	,									
��

3
= −csc�(3�)�� 

��������				�
csc�(3�)��

25 + cot�(3�)
= −

1

3
�

��

�� + ��
 

−		
1

3. �
arctan �

�

�
� = −

1

15
arctan �

�

�
� + � 

�
csc�(3�)��

25 + cot�(3�)
= −

1

15
arctan�

cot(3�)

5
� + � 
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24.−���������
��

√12 − 4� − ��
 

�
��

√12 − 4� − ��
= �

��

�(12 + 4) − (�� + 4� + 4)
= �

��

�16 − (� + 2)�
 

������ó�:				� = 4											� = � + 2											�� = �� 

�
��

√12 − 4� − ��
= �

��

√�� − ��
= arcsen�

�

�
� + � 

�
��

√12 − 4� − ��
= arcsen �

� + 2

4
� + � 

 

25.−��������	�
��

√1 − ����
 

�
��

√1 − ����
= �

��

�1 − (��)�
 

������ó�:					� = 		��																			
��

�
= �� 

��������						 �
��

�1 − (��)�
=
1

�
�

��

√1 − ��
=
1

�
arcsen(��) + � 

�
��

�1 − (��)�
=
1

�
arcsen(��) + � 

 

26.−��������		�
��

√9 − 4��
 

������ó�:		�
��

√9 − 4��
= �

��

�3� − (2�)�
 

� = 3																			� = 2�																							
��

2	
= �� 

��������			 �
��

�3� − (2�)�
=
�

�
�

��

√�� − ��
=
1

2
arcsen �

�

�
� + � 

�
��

√9 − 4��
=
1

2
arcsen �

2�

3
� + � 
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INTEGRAL QUE CONDUCE A EXPRESION 

LOGARITMICAO EXPONENCIAL 

 

1.−��������	�
���

1 + ��
 

������ó�:			� = �� + 1			 → 		
��

2
= ��� 

�
���

1 + ��
=
1

2
�
��

�
=
1

2
ln	� + � =

1

2
ln(�� + 1) + � 

 

2.−��������		����
�
�� 

������ó�:		� = �� 			→ 		
��

2
= 			��� 

����
�
�� = ���

�
��� =

1

2
��� �� =

1

2
�� + � =

1

2
��

�
+ � 

 

3.−��������	�
��

�	ln	�
 

������ó�			� = ���				 → 		�� =
��

�
,			�����			�

��

�	ln	�
= �

��

�
= ln	� = ln(ln	�) + � 

 

4.−��������		�
ln(�)��

�
 

������ó�:		� = ln(�) 		→ 			�� =
��

�
 

�
ln(�)��

�
= ��	�� =

1

2
�� + � =

1

2
(ln	�)� =

1

2
ln�(�) + � 

 

5.−��������		�
����ln(�)���

�
 

������ó�:		� = ln	�,			�� =
��

�
,			�

cos�ln(�)���

�
= �cos	�	�� = sen	� + � = sen(ln	�) + � 
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6.−��������	�
sen(�)��

cos(�)
 

������ó�:			� = cos	�			 → 		−�� = sen	�	�� 

�
sen(�)��

cos(�)
= −�

��

�
= −ln	� + � = −ln(cos	�) + � 

 

7.−��������		� tan(�)�� 

������ó�:			� = cos(�) 					→ 			−�� = sen(�)�� 

�tan(�)�� = �
sen(�)

cos(�)
�� = −�

��

�
= ln(�) + � = −ln�cos(�)� + � 

 

8.−��������		�
(�� + 1)��

��
 

������ó�:		�
(�� + 1)��

��
= ��

��

��
+

1

��
��� 

��� +���� �� = � − ��� + � 

 

9.−��������		�
����

(�� − 5)
 

������ó�:				� = �� − 5			 → 		�� = ���� 

�
����

(�� − 5)
= �

��

�
= ln	� + � = ln(�� − 5) + � 

 

10.−��������		� sec� (�)����(�)�� 

������ó�:				� = tan	�			 → 			�� = sec��	�� 

�sec� (�)����(�)�� = ��� �� = �� + � = 

�sec� (�)����(�)�� = 		 ����	� + � 

 



Problemas resueltos  Integral que conduce a expresión logarítmica o exponencial 

108 
 

11.−��������		�
(�� + sec��)��

(tan	� + ��)
 

������ó�:		� = tan	� + �� 			→ 				�� = (sec�� + ��)�� 

�
(�� + sec��)��

(tan	� + ��)
= �

��

�
= ln	� + � = ln(tan	� + ��) + � 

 

12.−��������		�
(��� + �� + 1)��

��
 

������ó�:		�
(��� + �� + 1)��

��
= �

���

��
�� + �

��

��
�� + �

��

��
 

��� �� +��� +������ = �� + � − ��� + � 

 

13.−��������		�
√���

1 + �√�
 

������ó�:		� = 1 + �√� 				→ 		�� =
3√�

2
��		 → 		

2

3
�� = √��� 

�
√���

1 + �√�
=
2

3
�
��

�
+ � =

2

3
ln	� + � 

�
√���

1 + �√�
		=

2

3
ln(1 + ���) + � 

14.−��������		�
����

4 − ��
 

������ó�; 			� = −�� + 4			 → 			−�� = ���� 

�
����

4 − ��
= −�

��

�
= −ln	� + � 

�
����

4 − ��
	= −ln(4 − ��) + � 

15.−��������		�
�√�����

√� + 1
 

������ó�:				� = √� + 1 						→ 			2	�� =
��

√� + 1
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�
�√�����

√� + 1
= 2��� �� = 2��� �� = 2�√��� + � 

 

16.−��������		�
(�� + ���)��

(�� − ���)
 

������ó�:		� = �� − ��� 					→ 				�� = (�� + ���)�� 

�
(�� + ���)��

(�� − ���)
= �

��

�
= ln	� + � = ln(�� − ���) + � 

 

17.−��������		�
��

�	ln√�
 

������ó�:				� = ln√� 				→ 	2	�� =
��

�
 

�
��

�	ln√�
= 2�

��

�
= 2	ln	� + � = 2	ln�ln√�� + � 

 

18.−��������		�
��

�� + 1
 

������ó�:				 �
��

�� + 1
= �

�����

���(�� + 1)
+ �	 = �

�����

(1 + ���)
+ 	� 

		��			� = 1 + ���				��������			 − �� = ����� 

	�����		�
�����

(1 + ���)
+ 	�			 = −�

��

�
= −ln(�) + � 

�
��

�� + 1
= −ln(1 + ���) + � 

 

19.−��������		�
��√� + 1���

√�
 

������ó�:				� = √� 				→ 				2�� =
��

√�
 

�
��√� + 1���

√�
= �

�√���

√�
+ �

��

√�
= 2��� �� + 2��� = 2�� + 2� + � 
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�
��√� + 1���

√�
= 	2�√� + 2�

�
�� + � = 2�√� + 2√� + � 

 

20.−��������		�
ln(�)��

�(1 + ln(�))
�
��
 

������ó�:		� = 		1 + ln(�) 				→ 			�� = 	
��

�
		,				� − 1 = 		ln(�) 

�
ln(�)��

�(1 + ln(�))
�
��
= �

(� − 1)��

�
�
��

= �
�	��

�
�
��
− �

��

�
�
��
 

��
�
�� �� − ��

��
�� =

2	�
�
��

3
− 2�

�
�� + � 

�
ln(�)��

�(1 + ln(�))
�
��
	=

2

3
[1 + ln(�)]

�
�� − 2[1 + ln(�)]

�
�� + � 

 

21.−������������ . ����� 

������ó�:		���� . ����� = ���� �� =
1

5
��� + � 

 

22.−��������		�
�����

��� + 1
 

������ó�:		� = 		 ��� + 1					 → 		−	�� = 		 ����� 

�
�����

��� + 1
= −�

��

�
= −ln	� + � = −ln(��� + 1) + � 

 

23.−��������		�(2� + 1)10(��
������)�� 

������ó�:		� = 3�� + 3� + 1					 → 		
��

3
= (2� + 1)�� 

�(2� + 1)10(��
������) �� =

1

3
�10� �� + � =

1

3

10�

ln	10
+ � 

�(2� + 1)10(��
������) = 		

10(��
������)

3	ln	10
+ � 
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24.−��������		�(���� +
1

��
)�� 

Solución: 

�(���� +
1

��
)�� = ����� �� +�

��

��
= ����� �� + ���� �� = −

1

3
���� − ��� + � 

 

25.−		��������		�
�����

(1 − 2���)�
 

������ó�:			� = 1 − 2��� 					→ 				−
��

6
= ����� 

�
�����

(1 − 2���)�
= −

1

6
�
��

��
= −

1

6
���� �� =

1

6
��� + � =

1

6(1 − 2���)
 

 

26.−��������		���	��(�) �1 + ln(�)��� 

������ó�:			� = �	ln	�					 → 		�� = (ln(�) + 1)��	 

���	��(�) �1 + ln(�)��� 

���	��	�(�) �1 + ln(�)��� = ��� . �� =
��

ln(�)
+ � =

��	��	�

ln(�)
+ � 

 

27.−��������		�
�����

��� + 3
 

������ó�:		� = √3				,				� = ��� 				→ 						
��

2
= ����� 

�
�����

��� + 3
=
1

2
�

��

�� + ��
=
1

2
.
1

�
arcot

�

�
+ � =

1

2√3
arcot

���

√3
+ � 

 

28.−��������		�
(2 + (ln	�)�)��

��1 − ln(�)�
 

������ó�:			� = 1 − ln(�) 					⇒ 	−		�� =
��

�
					,				ln(�) = 1 − �			 ⇒ 		 ln�(�) = 	 (1 − �)� 

�
(2 + (ln	�)�)��

��1 − ln(�)�
= −�

[2 + (1 − �)�]��

�
+ � = −�

[2 + 1 − 2� + ��]

�
+ � 
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−	�
(3 − 2� + ��)��

�
+ � = −3�

��

�
+ 2���	 −	���� + � 

�
(2 + (ln(�))���

��1 − ln(�)�
= 	−3 ln(�) + 2�	 +

1

2
�� + �	 

�
(2 + ln�(�))��

��1 − ln(�)�
		= −3	ln�1 − ln(�)� + 2�1 − ln(�)� −

1

2
�1 − ln(�)�

�

+ � 

 

29.−��������		�(�
�

� − �
��

� )�� 

������ó�:			� =
�

2
		⇒ 2�� = ��			,			� = −	

�

3
			⇒ 	−3�� = �� 

�(�
�

� − ��
�
�� )�� = ��

�
�� �� − ��

��
�� �� + � = 2����� 	+ 3��� �� + � = 	2�� + 3�� + � 

�(�
�

� − ��
�
�� )�� = 2�

�

� + 3��	
�

� + � 

 

30.−��������		�(� − 1)���
������ 

������ó�:			� = −�� + 2�			 → 		−
��

2
= (� − 1)�� 

�(� − 1)���
������ = −

1

2
��� �� = −

1

2
�� + � = −

1

2
���

���� + � 

 

31.−��������		�
��

�� + ���
 

�
��

�� + ���
= �

��
��

��
(�� + ���)

= �
��

��(1 + ����)
= �

�����

1 + ����
 

������ó�:			� = ��� 				→ 	−	�� = �����		 

�
�����

1 + ����
= �

−��

1 + ��
= −�

��

1 + ��
= −arcot(�) + � = −arcot(���) + � 
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32.−��������		�(�
�
�� − �

��
�� )�� 

�(�
�
�� −��

�
�� )�� = ��

�
�� �� − ��

��
�� �� = 2�

�
�� + 2�

��
�� + � 

�(�
�
�� − �

��
�� )�� = 2��

�
�� + �

��
�� � + � 

 

33.−���������
��

√��
 

������ó�:		�
��

√��
= ���

�
�� �� = −2��

�
�� + � 

 

34.−��������		�
��

3 − �
 

������ó�:		� = 3 − �			 → 		−�� = �� 

�
��

3 − �
= −�

��

�
= −ln(�) + � = −ln( 3 − �) + � 

 

35.−��������	�
��

�(ln	�)�
 

������ó�:			� = ln(�) 					→ 				�� =
��

�
 

�
��

�(ln	�)�
= �

��

��
= ���� �� =

���

−3
+ � = −

1

3. ln�(�)
+ � 

 

36.−��������		�
�����

√��� + 1
 

������ó�:			� = 1		,				� = ��� 			→ 			
��

2
= �����	 

�
�����

√��� + 1
=
1

2
�

��

√�� + ��
=
1

2
ln(� + ��� + ��) + � 

�
�����

√��� + 1
=		

1

2
ln(��� + ���� + 1) + � 



Problemas resueltos  Integral que conduce a expresión logarítmica o exponencial 

114 
 

37.−��������	�
��

��

��
�� 

������ó�:			� = ��� 			→ 	−
��

2
= ����� 

�
��

��

��
�� = −

1

2
����� = −

1

2
�� + � = −

1

2
��

��
+ � 

 

38.−�������������
������� 

������ó�:		� = −�� + 2				 → 	−
��

2
= ���	 

�����
������� = ���. (−

��

2
) = −

1

2
����� = −

1

2
�� + � = −

1

2
����

���� + � 

 

39.−��������		� ����
�
�� 

������ó�:		� = �� 			→ 			
��

3
= ���� 

�����
�
�� =

1

3
���. �� =

1

3
�� + � =

1

3
��

�
+ � 

 

40.−��������		� ����
�(�) . sen(2�)�� 

������ó�:			� = sen�(�) 		→ 			�� = 2sen(�)cos(�)�� = sen(2�)�� 

�����
�(�) . sen(2�)�� = �����

�(�) . 2sen(�)cos(�)�� 

�����
�(�) . 2sen(�)cos(�)�� = ���. �� = �� + � = ����

�(�) + � 

 

41.−��������	�
sec�(�)��

csc(�)
 

�
sec�(�)��

csc(�)
= �

�

����(�)��

�

���(�)

= �
sen(�)��

cos�(�)
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������ó�:			� = cos(�) 			→ 	−	�� = sen(�)�� 

�
sen(�)��

cos�(�)
= �

−��

��
+ � = −������ = (−)

���

−4
+ � 

1

4
��� + � =

1

4	��
+ � =

1

4	cos�(�)
+ � 

�
sec�(�)��

csc(�)
		=

1

4
sec�(�) + � 

 

42.−��������	�
cot�ln(�)���

�
 

������ó�:				� = ln(�) 					→ 				�� =
��

�
 

�
cot�ln(�)���

�
= � cot(�)�� = ln�sen(�)� + � = ln �sen�ln(�)�� + � 

��í	���			�
cot�ln(�)���

�
= 	ln �sen�ln(�)�� + �	 
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����������		������������� 
���������		���������� 

 

���	������ó�	������������	��	������	�����	
��

��
= �(�, �)		��	���������	��	��	�����ó�	 

�(�, �)��	�����	��������	����	��	��������	��	���	�����ó�	��	"x"		�		���	�����ó�	��	"y",			��		 

	�����,					
��

��
= �(�, �) 		⇒ 		

��

��
= ℎ(�)�(�).	 

������	����	������, ��������	��		������	
��

��
= �(�, �) 		⇒ 		�

��

�(�)
= �ℎ(�)�� 

����:		����	������ó�	����������	��	���	������ó�	�����������	������	��	������	�����	���á	 

���������	��	���	������ó�	�������.		���	���������		,			��	���ú�	���	���	������ó�	�����������	 

��	������	��			������	�����	�����	���	������ó�	�������	���	��������	���	���������	�		����	 

���	�	������	����������		������������	���	��	������	���������	�������������	��	�����	��	�.				 

�����	����������		�������������	���	����������	��	���������	����������	����������	�		 

����������	��������. 

�������: ��������	��	������ó�	�����������		
��

��
= ��. cos(�) �����������	��	�����	���� − 

������	����������	�	����������	��������.		 

[��	��	������			������		��	�����	��������	��	����	�é�����	��		�			��		��	1	(���)] 

��

��
= 	��. cos(�) 	⇒ 		�

��

��
= �cos	(�) �� + �				 ⇒ 	−

1

�
= sen(�) + � 

−
1

�
= sen(�) + �				 ⇒ 			� = −

1

sen(�) + �
(������ó�	�������). 

���������	��			� = 0				��	������ó�	��	��	������ó�	�����������. 

� = 0			 → 		�� = 0		,				��	���������	��	��			��			��		������	��	���������		0 = 0	,				���	��	�����	 

� = 0				��		������ó�	��	��	������ó�	�����������.	 

����	��	������	����ú�	�����	��				� ∈ �			���		���		� = 0		��������	� = 0	��	���	������ó� 

�������	�	��������	��	��	������ó�	�����������			
��

��
= ��. cos(�). 
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��	������ó�		���á		�(�) = −
1

sen(�) + �
			�							� = 0 

 

1.−��������	
��

��
	= 6 − 3�� 

������ó�:		
��

��
= 6 − 3�� 		⇒ 		�� = (6 − 3��)��				 

��� = �6�� − �3���� + �		 ⇒ 		� = 6��� − 3����� + �		 ⇒ 		� = 6� − �� + � 

 

2.−��������		
��

��
= 3���� 

������ó�:		
��

��
= 3���� 		⇒ 		

��

��
= (3��)��				 

������ = �(3��)�� + �	 ⇒ 		
���

−1
= �� + �		 ⇒ 	−

1

�
= �� + �			 

3.−��������		
��

��
= ��� − � 

������ó�:				�� = (��� − �)��		 ⇒ 		�� = ����� − ���				 

��� =	������ −���� 	+ � ⇒ 		� = 	
���

−1
−
��

2
+ �				 ⇒		 

� = −
1

�
−
��

2
+ �			 ⇒ 			� = −	

2 + ��

2�
+ � 

4.−��������		
��

��
=
��√�� − 3

��
 

������ó�:			���� = ������ − 3� ��		 ⇒ 		� ���� = ������ − 3 	�� + �	 

� = �� − 3				 → 			
��

3
= ����						 

����� =
1

3
��

�

�. �� + �	 ⇒ 		
��

3
=
2

3
	 .
�
�

�

3
+ � 		⇒ 		 �� =

2

3
�(�� − 3)� + �� 

5.−��������		
��

��
= (2� + 1)� 

������ó�:		�� = (2� + 1)���		 ⇒ 		��� = �(2� + 1)��� + �	 
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��					� = 2� + 1	,						
��

2
= �� 

��� = �(2� + 1)��� + � ⇒		��� =
1

2
����� + �		 ⇒ 		� =

1

6
�� + �		 ⇒ 		� =

1

6
(2� + 1)� + � 

 

6.−��������			
��

��
= 3�� + 4� − 6 

������ó�:		
��

��
= 3�� + 4� − 6		 ⇒ 		�� = (3�� + 4� − 6)��				 

��� = �(3�� + 4� − 6)�� + �		 ⇒ 		� = 3����� + 4���� − 6��� + � 

� =
3

4
�� + 2�� − 6� + � 

7.−��������			
��

��
=
(� + 2)�

(3 − �)
 

������ó�:		(3 − �)�� = (� + 2)�	��		 ⇒ 		�(3 − �)�� = �(� + 2)�	�� 	+ � 

� = 3 − �		,						 − �� = ��	,								� = (� + 2)	, �� = �� 

�(3 − �)�� = �(� + 2)�	�� + �	 ⇒ 	−���� = ����� + �		 ⇒ 	−
��

2
=
��

3
+ �			 

−3�� − 2��

6
= �				 ⇒ 			3(3 − �)� + 2(� + 2)� = �� 

 

8.−��������		��� = √2� − 3 

������ó�:		
�

��
(�′) = (2� − 3)

�

� 		→ 		�(�′) = (2� − 3)
�

�	��		 

��(�′) = �(2� − 3)
�

�	�� + �� 

��				� = (2� − 3)		,			
��

2
= �� 

��������				��(�′) =
1

2
��

�

�	�� + �� 	⇒ 		�� =
2

2.3
�
�

� + �� 

�� =
1

3
�
�

� + �� 		⇒ 		
��

��
=
1

3
(2� − 3)

�

� + �� 

�� = 		 �
1

3
(2� − 3)

�

� + ��� ��	 ⇒ 		��� =
1

3
�(2� − 3)

�

�	�� + �� ��� + �� 
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��� =
1

3
�(2� − 3)

�

�	�� + �� ��� 

��				� = 2� − 3		,
��

2
= �� 

� =
1

6
��

�

�	�� + ����� + �� 	→ 		� =
2

6

�
�

�

5
+	��	� + �� 

		�����			� =
1

15
(2� − 3)

�

� + ��� + �� 

 

9.−��������	
���

���
	= 5�� + 1 

������ó�:	
�

��
(��) = (5�� + 1) 		⇒ 		�(��) = (5�� + 1)��			 

��(��) = �(5�� + 1)�� +	�� 

�� = 5����� +��� + �� 		⇒ 		�� =
5

3
�� + � + �� 		⇒ 		

��

��
=
5

3
�� + � + �� 

��� = ��
5

3
�� + � + ����� + �� 

� =
5

3
����� + ���� +����� + �� 	⇒ 		� =

5

12
�� +

��

2
+ ��� + �� 

10.−��������		��
��

��
= ��(� − 4) 

������ó�:					����� =
(� − 4)

��
��		 ⇒ 		������ = ��

� − 4

��
� �� + �		 

������ = �
�

��
�� − �

4

��
��	 + � 

−
1

�
= ������ − 4������ + �	 ⇒ 	−

1

�
=
���

−1
− 4 ∙

���

−2
+ � 

	−
1

�
= −

1

�
+

2

��
+ �	 ⇒ 		−

1

�
=

2

��
−
1

�
+ �		 ⇒ 		

1

�
=
1

�
−

2

��
+ � 

1

�
=
� − 2

��
+ �				 
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11.−��������	
���

���
		= −9sen(3�) 

������ó�:		
�(�′)

��
= −9 sen(3�) 		⇒ 		�(�′) = −9sen(3�)��				 

��(�′) = −9�sen(3�)�� + �� 	⇒ 		�� = (−9) �
1

3
� (− cos(3�)) + �� 

�� = 3 cos(3�) + �� 		⇒ 		
��

��
= 3 cos(3�) + �� 

��� = 3� cos(3�)�� +����� + �� 	→ 		� = sen(3�) + ��� + �� 

 

12.−��������		���
��

��
= (�� − 1)

�

� 

������ó�:				�(�� − 1)
��

� �� = �����		 ⇒ 		��(�� − 1)�
�

��� = ������	 + � 

−(�� − 1)�
�
�� =

���

−1
+ �		 ⇒ 	−(�� − 1)�

�
�� +

1

�
= � 

 

13.−��������				
��

��
	= (� + 1)(� + 2)		, ����		� = −

3

2
		, � = −3 

������ó�:			 ��� = �(� + 1)(� + 2)�� + �		 ⇒ 		��� = �(�� + 3� + 2)�� + �	 

� =
��

3
+
3��

2
+ 2� + �	,				����	� = −

3

2
		,			� = −3 

	��������	 −
3

2
= −9+

27

2
− 6 + �		 ⇒ 	−

3

2
= −15 +

27

2
+ �		 

−
3

2
=
−30 + 27

2
+ 	�			 ⇒ 				−

3

2
= −

3

2
+ �				 ⇒ 			� = 0 

�����				� =
��

3
+
3��

2
+ 2� 

14.−��������		(� + 5)�� − (� − 2)�� = 0 

������ó�:			(� + 5)�� − (� − 2)�� = 0		 ⇒ 		 (� − 2)�� − (� + 5)�� = 0 

��

� + 5
−

��

� − 2
= 0			 ⇒ 		�

��

� + 5
−�

��

� − 2
= �		 ⇒ 			 ln(� + 5) − ln(� − 2) = ln � 

� + 5

� − 2
= � 
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15.−��������		���� − (1 + ��)�� = 0 

������ó�:			���� − (1 + ��)�� = 0			 ⇒ 	 (1 + ��)�� − ���� = 0	 ⇒ 		
��

�
−

���

1 + ��
= 0		 

�
��

�
−
1

2
�

2���

1 + ��
= �		 ⇒ 		 ln � −

1

2
ln(1 + ��) = �		 ⇒ 		

��

1 + ��
= � 

 

16.−��������			(� − 1)�� +	���� = 0 

������ó�:			(� − 1)�� +	���� = 0		 ⇒ 			
��

��
+

��

� − 1
= 0			 ⇒ 			�

��

��
+ �

��

� − 1
= � 

���

−1
+ ln(� − 1) = − ln � 		⇒ 	−

1

�
= −ln(� − 1) − ln� 		⇒ 		

1

�
= ln�(� − 1) 

� ln �(� − 1) = 1 

 

17.−		��������		(�� − 2)�� + (2� + 3)�� = 0 

������ó�:		(�� − 2)�� + (2� + 3)�� = 0	 ⇒		
��

2� + 3
+

��

�� − 2
= 0 

1

2
�

2��

2� + 3
+�

��

�� − 2
= ln� 		⇒ 		

1

2
ln(2� + 3) +

1

2√2
ln
� − √2

� + √2
= � 

√2 ln(2� + 3) + ln
� − √2

� + √2
= � 

 

18.−��������	(�� + 4)���� − (�� + 3)�� = 0 

	������ó�:			(�� + 4)���� − (�� + 3)�� = 0		 ⇒ 			
���

�� + 3
−

��

�(�� + 4)
= 0 

�
���

�� + 3
− �

��

�(�� + 4)
= ln � 			⇒ 			

1

2
�

2���

�� + 3
− �

��

�(�� + 4)
= ln� 

1

�(�� + 4)
= 	

�

�
+
�� + �

�� + 4
		⇒ 		� =

1

4
	, � = −

1

4
	,			� = 0 
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�
��

�(�� + 4)
=
1

4
�
��

�
−
1

4
�

���

�� + 4
= 	

1

4
ln � −

1

8
ln(�� + 4) + ln � 

��í		���	�
���

�� + 3
−�

��

�(�� + 4)
= 	

1

2
ln(�� + 3) −

1

4
ln � +

1

8
ln(�� + 4) = ln � 

4 ln(�� + 3) −2ln � + ln(�� + 4) = ln � 		⇒ 			
(�� + 3)�(�� + 4)

��
= � 

19.−��������	cos��	�� + sen	�	�� = 0				��������	���		� �
�

4
� =

�

4
 

������ó�:	cos��	�� + sen	�	�� = 0				 ⇒ 			
��

sen�
+

��

cos��
= 0 

�
��

sen�
+�

��

cos��
= �			 ⇒ 			� csc � +� sec� � = �		 ⇒ 		 ln(csc � − cot �) + tan � = � 

����	 		tan �
�

4
� = 1	,				 cot �

�

4
� = 1	,				 csc �

�

4
� = √2 

ln�√2 − 1� + 1 = �			 

��������		 ln(csc � − cot �) + tan � = 	 ln�√2 − 1� + 1		 

20.−��������	��	������ó�	�����������		(3 − �)�� + 2���� = 0			��������	���			�(1) = 1 

������ó�:		(3 − �)�� + 2���� = 0				 

��	������	���	��	������		2�(3 − �)			�			��		�����á 

1

2
∙ 	
��

�
+

���

3 − �
= 0		 ⇒ 	

1

2
∙ 	
��

�
−
−���

3 − �
= 0		 

1

2
�
��

�
− �

−���

3 − �
= �		 ⇒ 			

1

2
�
��

�
− �1 +

−3

3 − �
��� = � 

1

2
ln|�| − � − 3 ln|3 − �| = � 

����		�(1) = 1			��������		
1

2
ln|1| − 1 − 3 ln|3 − 1| = � 

� = −1 − 3 ln(2) 

1

2
ln|�| − � − 3 ln|3 − �| = −1 − 3	ln	(2) 

 


